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Knowledge organiser

Painting and colour theory— Year 8

Hue is the color itself, of which there are 12 on the wheel
*  Primary colours RED, BLUE, YELLOW

* Secondary colours ORANGE, GREEN, PURPLE

e Tertiary colours are created by mixing primary and

secondary together
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Tints, tones, and shades are created by adding
white, gray, or black to a hue, thereby affecting
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Tint = adding white
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Tone = adding gray

Shade = adding black
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Warm colours

Layering — You can apply your paint in layers to create darker
tones or create texture.

Blend — You can blend your paint using water or just your
paintbrush to create gradual tone.

Brush strokes — The direction and pressure on your brush and
the marks you make.

Application — The way in which the paint is used and the
control of water.

Hue — The main /dominant colour being applied
Complimentary — Colours that sit opposite one another on
the color wheel

*Always hold the paintbrush near the base of the bristles.
*When painting, use a light touch and keep the brush close to
the surface you are painting on.

*Be careful not to apply too much pressure when painting, as
this can result in messy paintwork and streaks.

*To avoid paint buildup at the tip of your brush, rinse it off in
between strokes.

You should only

be painting with
the tip of the
paintbrush Hold your
'« brush at the tip
for more
control

Cool colours

__________________________________________

BBC bitesize painting &
colour theory

Painting Top Tips:

* Apply a small amount of paint to the brush

* Apply a small amount of water to the brush

* DO NQOT cover your paintbrush in paint

e You can mix your paint on the table but DO NOT make
large puddles and make a mess



https://www.bbc.co.uk/bitesize/guides/zxknmsg/revision/1

Justice: being fair, treating people fairIy. Capital punishment is the death penalty, is the

killing of a person by judicial (legal) process as FOR AGAINST

Injustice: not being fair, not treating people fairly. ~ Punishment.

The last executions in the United Kingdom took

—>

« It brings justice tothe | * Two wrongs don’t
victim’s family. make a right.

Social Justice: refers to human rights and equality.  Place in 1964, prior to capital punishment being . yrings closure to the | *  Sometimes

abolished for murder (in 1965 in Great Britain and

in 1973 in Northern Ireland). family. mistakes can be

The law is a set of rules that a
country/society will abide by in order to
keep everyone safe and protected.
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Why are laws important?

* Help to achieve justice

e Punish those who have done wrong
*  Protect society /
* Keep society calm and orderly

Theories of

Punishment

Protection Theory Punishment is to protect society so that dangerous
criminals are off the streets.

Deterrent Theory Punishments are so severe it puts people off
committing the crimes in the first place.

What does
Justice mean?

made and then it

It protects society from is irreversible.

dangerous criminals.
* Itis more effective

e When the crime is so for a criminal to
horrific that no other suffer in prison
punishment seems fair. and live with their

crime(s).

Most Muslims would say that they support the use of
capital punishment because then Qur’an states crimes
that are worthy of the death sentence (e.g. murder and
adultery). They believe this is fair, protects society and
what is taught in the Qur’an. Some Muslims disagree
with capital punishment as they say it is ‘acting as Allah’,
as only he has the power to give and take life.

Most Sikhs do not agree with the death penalty because they believe:

Dignity is vital. Executing people takes away their right to human dignity.
The Ten Gurus appear to be against the death penalty, as they did not use it
for criminals they encountered.

Sikhs are banned from 'killing in cold blood'. The death penalty may be
regarded as 'killing in cold blood'.

The only time when Sikhs ran an independent nation in the 19t century, no
executions were used.



PNG (Lossless) - Portable Network Graphic, good for images in colour, larger
file size than a jpeg, keeps transparency.

TIFF (Lossless) - Tagged Image File Format, not used on the WWW

due to its very large file size, file standard in printing.

& Bitmaps
Compression Vectors e Are composed of many tiny parts, called pixels. The pixels are often

File Types Q ,
e BMP - Microsoft file type, not usually compressed, so large files, widely accepted. L J :] . S P
GIF (Lossy) - Graphics Interchange Format, limited to 256 colours, keeps transparency. ( E
JPG (Lossy) - Joint Photographic Experts Group, does not keep transparency. L :
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Compression is used to reduce a files size so it can e Are created in graphics packages and consist of shapes called mgny d|fferent colpurs. . _ ,
be uploaded/downloaded or transferred more objects e |tis possible to edit each individual pixel. Since the computer has
quickly. There are two types: e Evenif an object in a vector graphic is quite large, it doesn't need a to store information about every single pixel in the image, the file

size of a bitmap graphic is often quite large.
e Are NOT scalable - i.e. when you resize
a bitmap graphic, it tends to lose quality.

. lot of computer. memory. Therefore the file size of a vector graphic
Lossless Compression is often very small.

e Takes advantage of the limitations of the human e ARE scalable - i.e. when you resize them,
eye and removes data that cannot be seen. they do not lose quality.
Losing quality.

e Datais lost and is not added back when the file is
uncompressed.

The Interface

file Edit View Laer Object Path Text Efects Whiboard Help

Lossy Compression

o ; . Inkscape is a vector graphic software package. It includes a range of tools @l NB 0 ek Q@@ O~
* Redﬁtces lle size with no loss of data or image and allows you to use a range of different techniques. DEE & LN MBS ET xm
quality. : -
. . 3 . ] ] ] ] ] I ] ] I I ] fﬁ .|.|.|.H|.||.|.P|.|.||.r.|.|.|.|.| |.|.F.-|.|.|.|..-|.|.va.[
e Data is not lost and is added back when the file is 1 IR
Select Tool ‘ N :Select and transform objects (F1)
uncompressed. — | . Edit path nodes or control handles (F2) AT— 'lm::o = Z EQ _l_h t | b ”
i . oy ER ER e lmw Otk Bt Tad Ere ik is tool bar allows you
e Cannot compress to as small a file as a lossy Control Point | Neoma B 46 Bam alla et 9% FTRE X8 : ) Yy
method does. Editing Tool £ T Lo sa< Easm 3 to maniplute objects on
Q zZCreaterectang\esandsquares{F-‘t} ' Mpar Bt S R e I\I. R e the page, it inlcudes
Ractangle == - - Create drces, ellipses, and arcs (F5) i _ tools like Iayers, rotation
: : : fool Ll ! Q i MENLU TOOL dsi
ManIPUIatlng ObjeCtS F g ! Create stars and polygons (*) D . BAR CONTRPOL anda size.
'?lli]lase - Create spirals (F9) - COMIAND AR RLLER
e Transforming or altering an asset using o0 O -: e \i.,-(————'TOOl-BOX eAe
methods/techniques to achieve desired results, is Star/Polygon o + Draw freehand ines (F6) © -
known as manipulation_ Tool @ f_ EDraw Bezier curves and straight lines (Shift+F6) ; : FILL & PAGE
e : 1 P : < ROPDER " .
. Chom;)osnblon is thebreSL(let of 2 or| mcj)re images - Tml/: . R —— b STROKE ggpﬁ%& This is the basic layout of
that have been combined or overlaid. o ;- i
. L ~ [ Create and edit text objects (F8) A '-_ LAYER HELP PALETTE zZ your page' The Slze Of
e Layers are like sheets of stacked acetate. Bezier Path ———)F & - R ; COMMBNGS / the page can be
Transparent areas on a layer let you see layers Tool v - reate comectors (G723 4 T~ manipulated to your
below. You use layers to perform tasks such as foxt Tool A | | =xisadeatomdmliChisall '< requirements
ang g a B 00, ] 0
compositing multiple images. . I - - | Pickaveraged colors from image (F7) 5 __hal © 2l : : viioes i %
- 3R
Legislation copyright © Intilectual Property Trademarks
Copyright law protects creators of original material from Intellectual property, also known as “IP,” is an overall A symbol, word, or words legally registered or established

unauthorized duplication or use. term for ownership of and rights to creative works. by use as representing a company or product.



WHAT IS A STIMULUS?

In performing arts a STIMULUS is anything that inspires creative thought, action or ideas.

KEY WORDS KEY DEVICES
« STEREOTYPE - a widely held but fixed and oversimplified * STILL IMAGE/TABLEAU -a group of motionless figures
image or idea of a particular type of person or thing. representing a scene from a story
« CONVENTIONAL — what is normally done or believed * MIME - theatrical technique of suggesting action, character, or
emotion without words, using only gesture, expression, and

. movement.
* UNCONVENTIONAL - what is not normally done or

believed + SLOW MOTION - performing action slowly in order to highlight

detail and dramatic effect
* ATMOSPHERE - the pervading tone or mood of a place,

situation, or creative work. * DIALOGUE - speech between two or more characters

« INTERACTION - communication or direct involvement with = * FLASHBACK - a scene which depicts an event from the past
someone or something.

* |IMPROVISATION -a piece of music, drama or dance which is.
created spontaneously or without preparation.

INSPIRED PRODUCTIONS
CATS - inspired by the poems of TS Eliott e
LES MISERABLES - inspired by the novel by Victor Hugo
SIX — inspired by the lives of the wives of Henry VIII

WE WILL ROCK YOU - inspired by the music of Queen
10SFPH and the TEFCHNICOIOILIRED DRFAMCOAT — incnired bv a hibhle <torv




Verbatim Theatre

Verbatim theatre is theatre made from real people’s words. A form of documentary theatre, it allows theatre makers to explore events and themes through the words of people at the heart of
them, and was hugely influential in the revival of political theatre at the beginning of the 21st Century.

Verbatim theatre is usually created from the transcription of interviews with people who are connected to a common event or subject. The interviews are then edited into a performance text.
Often, actors are involved in conducting this research and feeding it back to the writer, director or company making the piece.

This research provides the both the spoken material for the play; also a play’s characters. Characters in a verbatim play often represent a specific, real person. They may be identifiable, or their
name and characteristics may be changed. Sometimes, characters may be amalgamations of more than one person.

Actors in verbatim plays might attempt to mimic their counterparts exactly, or decide to represent them less literally. Indeed, actors with the company Recorded Delivery went as far as wearing
earphones during performances, listen to recordings of interviewees while simultaneously portraying them in order to recreate speech patterns and hesitations precisely. Whether mimicking or
not, actors often speak of a loyalty to the people they represent, and a wish to do right by them.

Movement/interaction Expression
Eye contact (or lack of)- to show character relationships. Facial expression- showing your character’s thoughts, feelings or

emotions through by altering the appearance of your face.

Posture — the position you hold your body when standing or sitting.
Vocal expression- using your vocal skills to convey your character’s

Proxemics- your awareness of distance between yourself and other | emotion through their dialogue.

actors
Gesture- non-verbal communication through the movement of our
Stance- how you balance your weight (lunging, wide, narrow etc) hands or arm. Example: To show that | had done a good job in
understanding gestures, my teacher gave my a thumbs up.
Gait- the way you walk

Body language- communicating character emotions or feelings
through our bodies.

The Miner’s strikes- 1984
* The strike lasted a full year
* The strike began following the closure of 20 mining pits throughout the UK, a closure that resulted in the loss of 20,000 jobs
* The total cost of the mining strike to the UK economy was estimated to be £3billion
* Margaret Thatcher had prepared in the event of a strike so that the country would not be brought to it’s knees in the event of a strike. This left many families destitute for long periods of time as the
Government were not forced to negotiate with unions. Striker’s families were also refused benefits; this resulted in many striker’s becoming labelled as ‘scabs’
* ‘Scabs’ were members of coal mining communities who broke the strike and returned to work.
» Striking had occurred twice before and had proved to be successful- the strike of 1984 was not to be as successful
* In 194 there were 174 coal mines, by 1994 only 15 remained.




* Drilling

Wasting and abrading plastic . ¢

¢ Shaping
* Finishing
* Marking out

Hack saw
Fine toothed saw for cutting
plastic and metal

Junior hacksaw
Smaller version of hacksaw

Coping saw

Can be used to cut plastic
especially curved shaped.
Will leave rough edge

Scroll (Hegner) Saw
Mechanical version of coping
saw

Tenon saw — used for cutting
straight lines in wood

Files

Come in a range of shapes,
removing excess plastic

e Draw filing — removing

sizes and roughness
Cross filing — removing
scratches from cross

\ ¢ Used for smoothing and
\\\ material quickly
filing

Cutting and sawing

G Clamp- portable clamp used to
clamp work to the desk.

Machine Vice — used with
bench/pillar drill. Keeps your fingers
away from the drill bit.

Bench Vice (engineers vice) — bolted
to work bench. To hold materials
especially when sawing, drilling or
filing.

Pliers — used to hold, grip or pull
objects

Stepped drill
Used for drilling through thin plastic
and metal

Counter sink
Used to create a v shaped hole. This
allows countersunk screws to be flush

Twist drill — used to drill holes

Steel rule
Used for accurate measuring and
marking out

Z5

Sandpaper

Comes in different grades
rough to smooth

Wet and dry

Very smooth sandpaper
often used with water to
polish plastic during the
final finishing

Polishing mop
High speed rotating fabric
wheel is used with a
polishing compound to
remove scratches

Dremel

Used to smooth and grind
away excess material
especially from models
that have been 3d printed

Wire cutters

Often used to remove
support structures from
3d printed models

Heat gun
Can be used to heat small
pieces of plastic

Tri square Glue gun
Checking and measuring 90 degree

angles

Digital Vernier: Measure the Cordless drill

thickness or diameter of an object
with accuracy

More portable than a
bench drill but not as
accurate




Fret Saw/Scroll Saw

GUARD LOCKNUT
For lacking the guard

) " ARM
GUaRD N position [/
\\ / Ar/ —
[5)
BLADE ’ \
—_ -
TABLE ™
A
[ ] TEMSIONING BOLT
CONJOFF SWITCHES L ~ Used when changing
L I'M\N\| the blade.
7 4
Fret Saw Safety

1. Always use the guard. Adjust
the guard/foot to the correct
height

2. Wear goggles when cutting
materials.

3. Use a push stick if you think
your fingers are too close to
the blade

4. Follow all teacher instructions
carefully.

Bench Dirill

Operating
Handles ~_

Drill Chuck "o
Cover \\‘ﬁ \ ‘

Drilling Table

Base Plate

—__ Belt
Tensioner

S

Motor

T Throat Depth

___ Belt Pulleys
& Drive Belt

Disk Sander Belt Sander

Sander Safety

1.

MOTOR DisK

TRACTION ANGLE PRODUCED
ON { OFF

BASE

Always use the guard. Adjust the belt sander guard to the
correct height

2. Wear goggles when sanding materials.
3. Keep fingers well away from the sanding belt or disk
4. Keep the material moving gently from side to side
5. Follow all teacher instructions carefully.
Pillar Drill ,
Drill Safety
1. Always use the guard.
ONOFF 2. Wear goggles when drilling
- oI materials.
WL i I A 3. Clamp the materials down or use a
Wi machine vice.
AOUUSTVENT TABLE 4, Neyer hgl(‘j materials by hand
LEVER ——* § J while drilling.

5. Always allow the ‘chippings’ to
clear the drill by drilling a small
amount at a time.

6. Follow all teacher instructions
carefully.




3D Printing
3d Printing

Fused Deposition Modelling (FDM) — used in
schools
« This is most popular in
schools and involves melting
a plastic filament with the heated
extrusion head
* Shapes are built up layer by layer

Stereolithography (SL)

* Uses lasers to part cure the printed shape from a
bath of liquid resin

* Expensive but accurate

Digital Light Processing (DLP)

¢ Similar to Stereolithography

e Uses a powerful light source
rather than a laser

Laser sintering
¢ Uses a powdered material instead of a resin bath
* The solid shape is created as the heat from the

_la 18P
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Keywords

* Rapid prototyping

¢ Additive manufacturing — adding
material

* CAD — computer aided design

* CAM computer aided manufacture

3D Printer parts

Bed

Bed levelling screws

Nozzle

Extruder — heated element before nozzle.
Plastic is heater and forced through the
nozzle by a drive motor.

Plastic filament (PLA or ABS)

Filament guide

Filament spindle - reel holder/arm
Gantry — frame to support 3D printer

. Stepper motor — precise electric motor
10. Cooling fan

11. Control panel

HPwNpR
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Support Structures

Support structures allow overhanging features
of your CAD model to be supported when being
printed

Any overhanging design feature will require a
support structure

A support structure is temporary and can be cut
away with snips

Without a support structure the print would
collapse

All support structures are calculated by the 3d
printing software.

Health and Safety
Risk

Heat from the nozzle and extruder can cause
severe burns

Moving parts can cause fingers to be trapped
Fumes from some materials (ABS) could be
carcinogenic (cancer causing)

How to reduce risk

3D printer should be enclosed with a case

Extraction fan and filter should be used with toxic

materials

Materials

Plastic is the most common material

3D printed (thermoplastics)

* PLA—is used the most especially in
schools. It is a bio-plastic (starch
based) and will biodegrade

* ABS-—can also be printed but at
higher temperatures than PLA. Can
give off carcinogenic (cancer
causing) fumes.

How it works

1. A 3D printer builds a CAD model by
adding thin layers of softened
plastic one layer at a time — additive
manufacturing

2. The CAD drawing is sliced into thin
layers in the printer software.

3. The software tells the printer how
move left to right and where to
deposit (leave) plastic on each layer.
The print head (extruder/nozzle) is
moved up one layer at a time.

5. Support structures can be added
within the printing software prior to
printing

Social, moral and ethical issues

Downloading and printing working guns
and weapons

Copyright issues — printing copies of
CAD models and not paying

Job losses in manufacturing as 3d
printing increases in popularity

Body parts — could be printed. People
may become reliant on medical
advancements rather than healthy or
safe decisions.



School processing techniques

uo
* Line bending ST
¢ Vacuum forming CONTROLS,
¢ Laser cutter
¢ 3D printing
¢ Adhesives VACUUMBED

WORK BEING
ETCHED ——

PPE - personal protective equipment

* Gauntlets — heat resistant leather gloves
« Safety goggles

* Apron

Strip Heater — heating plastic and moulding into a shape

* Bending most plastics involves heat unless they are very thin
* Strip heaters are used to create a permanent fold in a piece of thermoplastlc :-€
Plastic can be formed around a jig (shape/mould)

Mark out bend lines — can be laser cut from a CAD drawing ¥
Turn on the strip heater and allow it to reach working temperature

Put on heat-proof gloves and have a tray of water ready to cool the work piece
Place the marked line of the work piece across the heating strip

Allow the plastic to heat through then test for flexibility

Bend the work piece to the required angle using a former or jig

Once the work piece has set it can be cooled

Nowup,hwNeE

Vacuum forming — simple case with a uniform thickness (no complex internal structures)

Vacuum forming patterns
. HIPS (high impact polystyrene) is commonly used to vacuum-form small items within schools
*  Commercial products include hot tub pools and egg boxes

Internal radius External radius
Vent hole

An effective former or pattern must have:
* Apositive draft angle of at least 3°

* No undercuts — trap mould

* A profile that is not too deep with vent holes drilled

* Corners and edges rounded with a small radius

* A smooth finish and/or a release agent applied to the pattern

Draft angle e

Thermoplastic

1. Mould is placed on a platform (also known as a platen)

A sheet of thermoplastic is clamped and heated

This now flexible sheet is pulled over a former (mould)

A vacuum sucks the air out

The plastic takes on the shape of the mould, then cools and hardens in position before the
mould is removed

uewN

Mould or former

Laser Cutter

* 2D shapes can be cut and engraved (patterns
applied) with a focused laser beam
* Parts can then be glued, slotted or screwed together
to make a more complex product
Plastic joints can be made e.g. a finger joint
Produce CAD drawing in 2D Design.
Export as a DXF file.
Open laser pro 5.3
Load DXF file into laser pro software
Set laser cutter powers
Put material into laser cutter
Focus laser cutter beam by moving the table up
or down. The two red dots should come
together.
Turn extraction on
9.  Test cut a piece of scrap plastic/wood
10. Cut work out

NowpwNPR -
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Line colour

. Line colour can be changed in 2d design and this
can be used to alter power settings to the laser
and to tell the laser cutter to either engrave or cut
e.g. black = cut, red = engrave

. Laser power settings can be changed, higher or
lower to cut thicker or thinner materials.

*  The laser cutter software can read the different
coloured lines in the CAD drawing and adjust the
power accordingly.

. Laser cutter must be focused to ensure accurate

ke

Heater
I
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Air pumped out



Tier 2 Vocabulary Hope in A Ballet Shoe — Non-Fiction Reading KO
Discord A disagreement between people. Writi .
- : ” -y riting Techniques
Prejudice A preconceived opinion that is not based on Nm_.l-_rwtmn f pt leaie of Warll-tmg Whlf his Sentence Stems
reason or actual experience. Writing actual or re .-examp esarea _ Hyperbole | The use of extreme
newspaper article, speechora Creates an image of... exaggeration.
Colonialis the policy or practice of acquiring full or letter. Literallv. this could illustrate :
m partial political control over another - - _Y’ - i Imagery When the writer
country. Viewpoint The views and ideas held by the Symbolically, this could mean... provides mental
writer. s »
Orphan a child whose parents are dead. piotures™.
. - Perspective The particular attitude towards Perhaps this is done to illustrate that the | | Irony Like sarcasm, where the
Coup a sudden, violent, and unlawtul seizure of something (can shaped by writer feels. . opposite is implied.
power from a government. time/place). i N :
Genocid the deliberate killing of a | rn.b—f Emphasises the writer’s point that... Juxtaposition | Two ideas together
enocide © aeliberale Kimg ol a ‘arge fumoet o Attitude The tone the writer adopts to i ; ; i
people from a particular nation or ethric emphasise o covey t.he};r - doas. Exempilifies the viewpoint that.._. \ﬂrtl;:ch contrast each
group with the aim of destroying that nation other.
or group. Methods The ways in which the writer List (of A number of connected
Rebel a person who rises in opposition against an f:gmmumcates their views and PAF three) items (three= effect).
; ideas.
established government/leader. Metaphor Something is presented
Asylum The protection granted by state to someone Comparative Connectives Purpose Why are you writing? e.g. as something else.
who has left their home country as a political To entertain, to inform Oxymoron Contradictory terms
refugee. Compare Contrast o .
—_ e st oetved P Budience | Who are you writing for? together “bittersweet”.
are engagement in or the activities involved in Similarly, ... On the other hand, ... .
e or conflict. Y e.qg. Young adults, children, Pathos Language used to appeal
In the same way, ... Whereas... teachers o the emotions.
Refugee A person who has been forced to leave their Equally, ... In contrast to this, ...
country due to war, persecution, or natural Compared with Unlike Form Wl_]at type qf text are you Personificati | Giving human traits to
disaster. P s h i el going to write? e.g. A on something non-human.
, . wit ternatively, ... recipe, an article, a story
Trauma Pain or suffering
Discriminat | The unjust prejudicial treatment of different SQI STRUCTURE This Quotation Repetition | When a word, phrase or
ion categories of people. : idea is repeated.
Statement Answers the question Nlustrates Reveals
Superior A high rank, status, or quality :
— — - A clear point made Indicates Symbolises Semantic A set of words from a text
Diversity The state of being diverse; showing a great ' : Field lated i .
deal of variety; very different. Quotation( Precise and embedded Highlights Emphasises 1e related in meaning.
Ostracised | To exclude from a society or group. s) Might group quotations Implies Reinforces
Charitable | The assistance of those in need. Inference What is suggested/implied — Simile Something is presented
Signifies Reveals . .
Liberated | Freed from enemy occupation. as like something else.
Hostility hostile behaviour; unfriendliness or
opposition. Symbolism | Anideais reflected by
Contention | Heated disagreement an object/character etc.




Enzymes:
proteins that
act as
biological
caftalysts; they
accelerate
chemical
reactions; e.g.
cause fruit to
ripen > spoil.
Enzymic
browning is an
oxidation
reaction that
takes place in
fruit and
vegetables,
causing it to
turn brown.

It can be
slowed down/
prevented by
adding acid or
blanching.
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Operating temperatures and monitoring

Refrigerators usually operate between 1°C to 4°C.
Temporary rises in display temperatures will occur if doors Y
are left open or a large quantity of food/drink at room

. . . 40C 'i“:l!’ﬁ‘,‘ ° SLEEPY .
temperature is loaded into the fridge, for example, bottles é_] f
of soft drinks. \_/ \

For bacteria to grow they need:

Lower/middle
=9 shelves |

> Upper shelves
¥ Foods that don't
need cooking /

[[©2 N0 AlIDD O} 85N PUBLODQ L :,j,
joyy sseooud oy} ~uo1ssId Aupulg S

4’ Bottom shelves
Raw meat
and fish

= YMULTIPLY 5
Vegetables, salads, T DA
herbs and fruit

mMZ0N MmO Z2>0

Types of bacteria
* Salmonella

* Staphylococcus Aureus
* Clostridium perfringens
* Ecoli

* Listeria

rreacass  2f€6d Safety s hygiene
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student :knewiedage ordaniser:

FOOD RELATED CAUSES OF ILL HEALTH Some people may develop an allergy to peanuts or
Bacteria is found in: to the gluten in wheat. If they eat foods containing these, they may
* Soil and Water become very ill, and possibly die. Intolerances: Not life threatening
* Plant and Plant Products but symptoms and restricted diet can lead fo ill health.

* Air and Dust
Bacteria can be controlled by pasteurisation and vaccination, but

also chlorination (USA) Visible and Non-Visible symptoms: abdominal pain, diarrhea,
vomiting, fever, nauseaq, tiredness/fatigue, headache, death.
Microbes: Length of time until symptoms appear: Onset period

Duration of symptoms: Can vary between bacteria types and

Tiny fungi which grow from spores found in the air: person contaminated.

* Settle on food products and multiply.

* When visible, food is described as ‘mouldy’.
* Causes food spoilage.

Desirable microorganisms

Symptoms can occur anywhere from a few minutes after exposure
to a few hours later, and they may include some of the following:
Swelling of the tongue, mouth or face

moulds > cheese Yeast > bread bacteria > yoghurt Difficulty breathing Diarthea
. . Low blood pressure Hives
Chemicails: Vomiting ltchy rash

* Some of the chemicals used in farming may remain on or in the
food we eat. These may cause us harm.

A hazard is the potential to cause harm to the consumer e Signs of SPOILAGE include:
and the main hazards are:

6 Off-odours

6 (Micro)biological, such as bacteria,

PURPLE
Products
with nuts

viruses, moulds and parasites,
e.g. tapeworms

6 Physical, such as glass, screws,
stones and hair

6 Chemical, such as pesticides and
cleaning chemicals

ALLERGENIC HAZARDS

6 Allergenic, such as peanuts,
tree nuts, sesame seeds, eggs and milk

6 Discolouration
6 Slime/stickiness
6 Mould growth

6 Unusual taste, e.g. sour
6 The production of gas
6 Blown cans or leaking packs

*{66d sarew & hygiene:



Prevent Cross
Contamination

Use correct colour coded chopping
boards and knives at all times

Raw Meat

Raw Fish
Cooked Meats
Salads & Fruits

Vegetables

Dairy Product-

.

‘vehicles’
include...

HANDS

: Control of cross-

contamination

* Effective instruction, supervision
* Training of food handlers

* Separation of raw and ready-to-
eat

Food (colour-coding)

Effective cleaning and disinfection
Use of disposable paper cloths or
colour-coded cloths

Not using washbasins for

washing food or equipment

AND-CONTACT
SURFACES

Sources®g vehicles > Routes of contamination
- =~

-
~.-n-n-—’ -

)

Ve ~
) e>)ec™ < VEHICLES (gg f% 'sgl READY-TO-EAT FOOD
4
=3 ~

FOOD-CONTACT
SURFACES

~> Cross-contamination should be
eliminated; clean and dirty processes
and raw and high-risk food preparation
must be separated. Work areas should
be colour-coded. A separate area for
de-boxing should be provided.

Colour-coded
workspaces and
equipment.

Direct contamination |
* e.g.raw meat fouches cooked meat, or where a raw food 1
drips onto ready-to-eat food. !
Indirect contamination :
* E.g. when a food handler prepares cooked meat after 1
handling raw meat without washing their hands. !

High Risk: Foods more prone to bacterial
infection, e.g. raw or cooked meats, raw or
cooked fish, eggs, cooked rice, gravies and
soups, dairy. Contain moisture and protein; £
ready-to-eat. ‘

Low Risk: Foods unlikely to contain

pathogenic bacteria and will not normally
support their growth e.g. grains and cereals,
bread, alcohol. Dry foods, high in salt, sugar o

other preservatives.



student :knéwiedde ordanisers-

HACCP Worked Example- Raw chicken:

HACCP (Hazard Analysis and Critical control

points) is a food safety management system which
identifies and controls hazards at critical control points
so minimising the risk of food poisoning or food
complaints and ensuring safer food.

HACCP Principles: Supplier > Delivery > Receipt >
Storage > Prepare > Cook - high risk > Serve/ chill

CLEANING

CLEAN KITCHEN SURFACES AFTER
PREPARING FOODS; TRY TO
'CLEAN AS YOU GO'.

-

N

COOKING

| B FOLLOW RECIPES AND LABEL INSTRUCTIONS ON
COOKING TIMES AND TEMPERATURES.
REMEMBER TO PRE-HEAT THE OVEN PROPERLY.

RECIPE

i J,

—

4C’s (linked to HACCP)

CHILLING

DO NOT PUT HOT FOOD DIRECTLY INTO THE FRIDGE
OR FREEZER, LET IT COOL SUFFICIENTLY FIRST; BUT
REMEMBER THAT COOLING SHOULD BE COMPLETED
WITHIN ONE OR TWO HOURS AFTER COOKING.

CROSS CONTAMINATION KEEP
RAW FOOD AND HIGH RISK FOOD
SEPARATED

FOOD POISONING IS OFTEN CAUSED WHEN HARMFUL
BACTERIA ON ONE FOOD ARE SPREAD VIA HANDS OR
KITCHEN UTENSILS TO CROSS-CONTAMINATE OTHER
FOODS. GOOD HYGIENE HELPS PREVENT THIS.

<
-

Delivery

Check the temperature of the delivery van storage,
check for any damage to packaging.

Storage

Store on the bottom of the fridge, covered to prevent
meat juices from dripping onto other products.

Preparation

Prepare raw meat on a red chopping board.

Cooking & serving

Cook to 75°C at the core for 2 minutes or more.
Check using a food probe.

Holding & reheating

Hot hold food above 63°C for no more than 90 minutes.

—

5/

-

-~

Step 1: Wet your hands and apply

liquid soap

Step 2: Rub palms together
Step 3: Rub the back of hands
Step 4: Interlink your fingers
tep 4: Cup your fingers

>fééd $aféty < hygiene:

(
1 Wash your hands before and after handling food to prevent cross
I contamination. Make sure you follow the 8 steps carefully.

- o = = mm e cw o o

= ~ 3 - 4
‘ B ,//?
< /}£ D o

OF /ey i)
R /:’22 e

Step 5: Clean the thumibs
Step 6: Rub palms with your fingers
Step 7: Wash wrists

Step 8: Rinse with warm running
water and dry with a clean,
disposable paper towel.




Year 8
Evolving Continents

)

Make sure you know the
‘bare bones’ of this unit.

Keywords:

1.

Development gap: Difference in standards of living
and wellbeing between the World's richest and
poorest countries.

Development: The progress of a country in terms of
economic growth, use of technology and human
welfare

Ecotourism: Nature tourism usually involving small
groups with minimal impact on the environment
Famine: Widespread, serious, often fatal shortages of
food

Human Development Index: A method of measuring
development where GDP per capita, life expectancy
and adult literacy rates are combined to give an
overview.

Inequalities: Differences between poverty and wealth
Infrastructure: The basic equipment and structures
that are needed for a country or region to function
properly.

Newly Emerging Economies (NEE): Countries that have
begun to experience high rates of economic
development, usually along with rapid
industrialisation

Key facts:

1.More than 4.4 billion people live in Asia

2.There are 48 countries

3.The Yangtze River is the longest on this continent
4.The biggest lake is the Caspian Sea

5.There are more than 2300 languages spoken

. .
The North What are Japan's main
* Hokkaido is remote and mountainous = >
« Snow capped peaks cover the centre of the island physical features=*
« Summers are relatively dry and cool
= Winters are very cold with heavy rainfall. S
The West v “"é
= The west of Honshu is mountainous

with hllle.ﬂal land. The East
= The area is cut by deep, narrow P _ .

% 5 « The east of Honshu is mainly
valleys with steep sides. AN & 5
5 £ 3 mountainous but the largest
« Short, fast flowing rivers flow down
areas of flat land are here.
to the sea.
* There are several active
* Summers are warm and wet. = 3 o
Y volcanoes including Mt Fuji,
« Winters are cold and snowy. besay -
Japan’s highest mountain.
* Summers are warm, humid and
: wet.
- pEes. = Winters are mild and quite dry.

Q. Which of the four

islands do you think
would be best to live

The South

= Kyushu has many active volcanoes, crater lakes and hot springs.
= Coral reefs may be found in the warm seas along the coast.
on? « The climate is almost tropical with hot, wet summers and warm

Explain your choice [4] sunny winters. Typhoons are common in autumn.

= The island has tropical plants and a lush vegetation.

Tourism in Thailand

Positives 1. Negatives

Modern hotels use lots of water
and energy

Lots of jobs are available in bars, 1.
restaurants, hotels and as trekking
guides and porters

2. Loss of local traditions as more
Some villagers make money out of Westernised tourists visit the area
selling traditional cultural items
3.  Money paid to package holiday
Tourism accounts for around 6% of companies stays in the UK

Thailand’s GDP

Impacts of poverty on Yemen

Hunger and Malnutrition: The U.N. estimates that approximately 80% of Yemenis are
vulnerable to hunger. About 14.3 million need medical assistance to combat malnutrition
along with other issues.

Water: Almost 18 million Yemeni citizens simply have no access to clean water. UNICEF
reports that only around 30% of the population uses piped drinking water services.
Contaminated water results in many infant deaths.

Humanitarian Crisis: The Yemeni rial, the official currency of Yemen, lost 75% of its value in
the past four years. With a GDP of around $27 billion, Yemen must rely on humanitarian
aid.

Education: As poverty in Yemen continues to worsen, about 2 million children remain out of
school.

The Economy: The World Bank reports that more than 40% of households lost their main
source of income, placing people under the poverty line.

Why do some parts of Africa have slow economic development?

Growth of population

War and crises: Of the world's 20 war-related conflicts in 2013, 11
alone were fought on the African continent - all in sub-Saharan
Africa.

Climatic conditions: The African continent has been suffering more
and more from climate change in recent decades: devastating floods
and extraordinary drought periods lead to crop failures.

IlInesses: Diseases such as AIDS, malaria or Ebola are the cause but
also the result of poverty in Africa.

Inadequate agricultural infrastructure: Roads, wells, irrigation
systems, storage facilities, agricultural machinery - in many regions
of Africa, agriculture lacks both infrastructure and expertise.




English Civil War

~ Ty -
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Summary Key Words
1. | The Stuart era: the Tudors were replaced by their Scottish cousins and 14 Divine . .
descendants of Mary, Queen of Scots. Right of Beltl)efo’rlho’r Klﬂég;p;)v:ﬁr came from God and therefore
K E 7 Kings nobody cou efy them
ey cvents
2. | 1603 - Elizabeth died and her closest relative James VI of Scotland became 15 | freason A crime against your own people or monarch
James | of England. He was the first king to rule all 4 countries of the British
Isles. 16 | Republic A country without a king or queen
3. | 5" November 1605 — A Catholic plot to blow up Parliament and the king. 17 Two parts: the House of Lords who were unelected and
Parliament :
1620- The Puritan Pilgrim Fathers, set sail on the Mayflower for a new life in the House of Commons who were elected - MPs
America. They celebrated their survival with a Thanksgiving meal of turkey. 18 .. o
Americans still remember this event each November on “Thanksgiving Day” Regicide The act of kiling a monarch
5. | 1625 - James died was succeeded by his son Charles I. 19 | cavaliers Soldiers who fought for the king
6. 1642-9- The English Civil War was fought between Charles | and Parliament. 20 | Roundhead soldi ho f ht f i ;
oundheads oldiers who fought for parliamen
7. | January 1649 — Charles | was beheaded.
21 | Exile Forced to live outside your country
8. 1653- Oliver Cromwell becomes “Lord Protector” until his death in 1658
9. | 1660- the restoration of the monarchy — Charles Il { son of Charles |) 22 | civil War A war between two sides from the same country
becomes king until his death in 1685.
23 y .
10 | 1665- The Great Plague in London kills 100,000 people. Puritan Very strict Protestant
11 | 1666- The Great Fire of London started in a Baker's shop in Pudding Lane 24 | Musketeer | Soldiers who fought with muskets (early form of rifles)
12 | 1688- The Glorious Revolution when Parliament replaced the Catholic James 25 | New Model New type of army of paid, full fime soldiers created by
Il with his Protestant daughter Mary and her husband William of Orange. Army Cromwell
13
26 | Lord Title given to Oliver Cromwell instead of king
Protector
27 | Bill of Limits on the monarchs power agreed by Wiliam and
Rights Mary as part of the Glorious Revolution
— — p— p—— 28 Levellers Groupl) during the Civil War wanting equality for all
Rames weas bath Kimng off The ekdest son an larmes i Cramneredl wacas an Charles 1, son of peop e
El band amd Scosland, I, Charles also heliaved FAP, evho roses B0 fsrmee Charles 1, weas in hidin
A jond the tess in the Divine Right of duse to Mew Model In France aftes bis 29 | Miasma Poisonous cloud of bad air believed to cause the plague
nations tagether. He Eings. This Iz_d b Sy i the Emglish Civil IF-dll:lln_-r s beheaded.
Pt | PR | s || e et e 30 | Revolution | A huge change
believed i_r| ehe Dirdine |.-=!||:_| I:=|:I1.r.| the English wha signed Charles | r\urs PRI -I|! AEED, b
mar Goct gaivm King's | evaniually iotes,anciic  bacamelonPromecrar  paradearnrougn | | 31 [ Period from the execution of Charles | in 1649 to the
thesir porecer, and gnum

therafore could nat be
arpused with by anyane.

thee pnly King to be put
on trial and swecuted by
thee conangry.

af Emgland, lesder af
England umntil his dewsth
in 1658

Lamdan wa chiesring
crowsds. Often called
“The Merry BMonarch™

return of Charles Il as king




@  KeyVocab Definitions Year 8 - The Slave Trade i
L) X P anml'llLandan
Empire A group of countries Key Questions A N e gt P
under a single authority; Olaudah Equiano How did the Slave Trade benefit quﬁtpn‘% - Py =y
for example the Queen. Olaudah was a Black, Britain? Aﬁ%ET,EA ! we j; &
) - ) LS freed slave who settled Traders grew rich, as did ports such o R F B ;
Triangular Trade A trading system which in Britain. His autobiography was || as Bristol, Liverpool, Glasgow and ¥ " e
operated from the late & % oo
16™ to early 19 influential in showing people the || London. The raw cotton from the e N AFRICA
centuries operating i horrors of slavery and the slave || Americas helped to feed the growing B e
, operating in a . . [79GIN ) g
i i trade. He describes how he was || number of cotton mills (as part of ot e, R 3
triangle. (see image) ] - X h b ! - ey,
kidnapped with his sister at || Britain's Industrial Revolution) N % s
The Middle Passage The Middle Passage was around the age of 11, sold by local British landowners also owned :
the part of the trade slave traders and shipped across plantations in the West Indies which ; P
where Africans, were the Atlantic to Barbados and || benefitted from cheap supply of D:‘ ?:Ioilig ?:‘:siilrz:ii ?:: ':iTe.ld
packed onto ships and then Virginia. While working as a || Labour. The profits from the slave sla?l/es invo)]ved breaking tools
transported across the deckhand, valet and barber, trade were invested in Britain's o g 100's,
; . ) h . faking illness, and committing
Aflantic to the West Equiano earned money by trading || industries. £ d sab
Indies. on the side. In only three years acts of arson and sabotage.
he made enough money to buy his What ditions lik th Slaves would run away, often
Slave Auction This was an event where own freedom 9 4 Y g we;:f dfj?n ,; 1ons ',,e on The making use of the Underground
Slave families often were : « | sl : he. zsiaqe%h in th Railroad to escape to the north
separated and sold to Harriett Tubman 4 f_'& hqveshwlijre[)g ane ogekl er in de, of America. Slave revolts took
slaveholders in distant Harriett was a Black, E 4 qu 'Ps ? : ;egseihquncé é’ spreala place during the Middle Passage
states. 'T a slave died, The Dbody would | ;04 in the Americas.

American slave who ¥ gt remain still chained to their other

Plantation An estate where crops are escaped slavery. She  § slaves for hours. The slaves were -~ -
grown on a large scale, then helped free many others often unable to digest the food given William Wilberforce

usually where slaves work. using the Underground Railroad || 15 them. Sick slaves would be denied | Viliam was an English
i and worked to abolish slavery. She || ¢4 and' left to die. Sla\'/es White Quaker and

was known as a ‘conductor’. During Member of Parliament.

developed sores where their chains

Underground Rail Road | A network of people and a ten-year span she made 19 trips : ; : He campaigned to
; ¢ rubbed against their skin. Many
safe houses which slaves info the South and escorted || giqves tried to kill themselves by abolish the slave trade, glvmg

used to escape to the over 300 slaves to freedom. And . A speeches in Parliament. He
north of the United h dlv pointed out in refusing fo eat or by jumping regularly introduced anti-
States: it + run b as she once proudly pointed out In || 4yerboard. Once a day slaves were o .

ares, It was not run by all of her journeys she "never lost slavery motions in parliament.
anyone person or group; it el g taken up from the hold to dance on The abolition campaign made

lied on th i a single passenger. the deck to keep them fit. . :
relied on the generosity him have many enemies. He

and support of many finally achieved hi I
. . 1672-1807 y achieved his goal on
people. Timeline of Key Events Bt sold 2.8 25th March, 1807. But this did

not completely prevent British

Emancipation When a slave is legally Million Slaves. ven
. ing i
freed from his/her owner. . - gﬁ:\’/lzl":r:gg;“ engaging in the
|
Abolition When a government law is 1833 -British
passed to officially stop 1554 - 1619- 1st 1672- Britain 1760- First and 1807- British Parliament Parliament
or end some’rhing; slaver‘y. . Ship full becomes leading biggest protest abolished the slave trade. They abolished
Triangular 9gest p o : ;
Trade of Slaves slave trade against the banned British ships being slavery
began is sold in nation. Slave Trade involved in the transportation throughout its
9 America. or sale of slaves. colonies.




Key Vocabulary

Definitions

()

Creed

A system of beliefs; a

Year 8: American Civil Rights

guiding belief.

Discrimination

Prejudice or unjust
behaviour to others based on
differences in age, race,
gender, and so on.

Oppression

The act of treating people in
a cruel and unjust way.

Segregation

The act or practice of
keeping people or groups
apart.

Boycott

To refuse to buy something
or to take part in something
as a way of protesting.

Integrate

To include people of all
races.

Retaliate

To do something unpleasant
to someone because the
person has done something
unpleasant to you.

Segregate

To separate or keep people
or things apart from the
main group.

Rosa Parks

Rosa Parks was instrumental in
spurring on the civil rights movement
in 1955. Parks boarded a bus in
Montgomery, Alabama, and refused to
give up her seat to a white man
because the "whites only” seating area
was full. Her subsequent arrest led to
Martin Luther King Jr. to organise the
Montgomery Bus Boycott of public
transport, which lasted for over a
year. On 5 June 1956, the federal
district court ruled that bus
segregation was unconstitutional, and
in November 1956 the U.S. Supreme
Court affirmed the ruling and struck
down laws requiring segregated
seating on public buses.

Martin Luther King Jr.
King was one of the major civil rights
leaders and was active in the movement
during the 1950's and 1960's. King came to
the nation's attention when he spoke out
against the arrest of Rosa Parks who would
not give up her seat to a white man on
public transport. King utilised peaceful
protest as a political tool and was
instrumental in forming the Southern
Christian Leadership Conference (SCLC)
He delivered an iconic speech, which
became known as the 'T have a dream'’
speech, at the Lincoln Memorial for the
1963 March on Washington for Jobs and
Freedom. King was later assassinated on 4
April 1968, Memphis, Tennessee, United
States by James Earl Ray.

SPERCHES BY THE LEADERS

Malcolm X

Malcolm X was a major figure in the civil
rights movement and a figurehead for
the Nation of Islam during the 1950's. X
was a passionate and inspiring speaker
who fought for independence for
African-Americans using violent methods
if necessary. To some, such as Martin
Luther King Jr. Who preached of peace
X was the flip side of the civil rights
movement. If the American authorities
did not want to deal with the peaceful
protests of King then Malcolm X would
be the alternative. On February 21, 1965,
Malcolm X took the stage for a speech at
the Audubon Ballroom in Manhattan. He
had just begun addressing the room when
multiple men rushed the stage and began
firing guns. Struck numerous times at
close range, Malcolm X was declared
dead after arriving at a nearby hospital.

Unconstitutional

Not in keeping with the basic
principles or laws set forth
in the constitution of a state
or country, especially the
Constitution of the United

President John F. Kennedy

Kennedy at first did not fully support the civil rights movement for fear of alienating voters. However, he did plant the
seeds for the Civil Rights Act 1964. After the riots in Birmingham Kennedy decided to support fully regardless of
whether or not he would lose the next election. He supported the March on Washington for Jobs and Freedom and had
plans to implement a stronger civil rights act. He would never see the Civil Rights Act 1964, as he was assassinated on
22 November 1963, Elm Street, outside the Texas School Book Depository, Dallas, Texas, United States.

States.

Civil Rights

LAWS

The rights of citizens to
political and social freedom
and equality.

Civil Rights Act of 1964: Prohibiting discrimination based on race, colour, religion, sex
and national origin, by federal and state governments as well as some public places

The Voting Rights Act of 1965: This made it
much easier for Black people to vote.




The Agricultural
_Revolution

1800 1850 1000

Source A 1750

Atk e T L J-..L.J
4 AFFLEEY ERCLE -‘

Machinery - more crop was collected
an.d so produced more profit.
1700

 source b 1750

"New animalz - could be ‘selectively’ bred to |

produce better meat and wool.
1700 1200

Average sheep weight 8

Average cow weight

The Domestic System / Cottage Industry.

- Merchants provided people with raw mate-
rial in their own homes they could make things
like cloth. The merchant would then sell it for
profits.

KT&@M%MQ@%MWK

New inventions

Factories

Factories were dangerous places with low weges and long hours. Wor kers could
be fined beaten if they did not work hard enough. :

Laws were imtroduced to try and make factories safer and give wor kers some
rights - but they remained unsafe for many years.

Iron Industry

The iren industry was incredibly im-
portant to the Industrial Revelution.
Without iren, many of the new ma-
chines would not have been devel-
oped, including transport systems

such as the railways.

Mew inventions such as John Kay's Flying Shuttle
(1733), Joames Hargreaves Spinning Jenny
{1764} and Richard Arkwright's Water Frame
(1769) charged the fextile industry forever:
they were tog big to fit in people’s homes. This
led fo the birth of the first factories ard the
Factary System.

In I76E, Scientist James Watt and busiressman
Matihew Boulton developed a rew kird of steam
engine that could power all the other machines.

Conditions of towns

Ttmns rew rapidly and as the amount
people and ories grew so did
1'h.a. problem of overcrowding, poor
sanitation, disease, and crime.
Smoke and fog created a Iy com-

bination of very poor air quality—
totally unlike 'R:a. courtryside.

People hated the new changes and
warted better living and wor king
conditions but they were

| helpless—so they reserted o
revolts and rebellions. Such as: -
Luddites, Swing Riots, Peterloo,

w 1olpuddle Martyrs, Chartists,

™ Rebecco Riots to nome but a
few... .

Rebelllon

! ered the couse; o hend pump in Soho was prov-
i ento be the source of infected water. A num-
i ber of paople mode =i

! Living conditions — poor seritation, leck of cleen weter, cramped
! and low quality sccommodation, close to factories, poor diet.

iller diseases — Miasma and cortogion theories — people didn't

krow what coused the diseases ; these were the most popular theo-
i ries. Diseases such as TB, cholera, typhus and typhoid were coused |
i by the poor living conditions and killed thousands.

 The cholera epidemics

the 19th cent
idemics in @ rumber of places throughout
IEG. 1%th cermtury. until Dr John Sru::,ﬂism—

—There were chalera |

nificant changes to the
i conditions in industri Er towns, such as Joseph
i Bozolgette, whe developed the ssweroge sys-
i tem in London

rgecns such as Morton and Simpson developed meth-

! mation? -

i ods of anosesthetic. so operations became less painful. In the mean-
i time, Pasteur and Lister developed ways of preverting germs and

i bacteria from cousing infection. As a result, Britain became a

i healthier nation.




History Knowledge Organiser: Suffragettes and Suffragists

Eﬁy\m%_fds O Votes of Women

National Union for |
Women'’s Suffrage
Societies (also known
as Suffragists)

vl wspu NUWSS

WSPU:

Women'’s Social and
Political Union (also
known as Suffragettes)

Emmeline Pankhurst,
Christabel & Sylvia
(daughters)

Millicent Fawcett l—;l"—-

Green, White and Red O

suffra?ge: Green, White and Purple
The right to vote
petition:

Formal written request

S
SIS 11
signed by large Breaking windows, chaining
@e®
Q'WQ

No slogan

|
Petitions, marches, rallies,
posters, leaflets and lobbying
MP’s
e ®

“Deeds not Words”

numbers of people to railings, slashing paintings,

militant action
Cat and Mouse Act:

Suffragettes on
hungers strike were
released, then re-
arrested when better.

No reaction from authorities,

but missed opportunity of l"\
attracting large numbers )

Arrested, undertook hunger
strikes in prison. Released
under Cat and Mouse Act.

IO: 34 June 1913 Emily Wilding Davison, trying to place a
scarf around the King’s horse, was hit and
o Epsom later died by the horse.
Racecourse
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Key words and definitions Addition and subtraction Negative numbers - directed

Line up the 64329 <t o

Odd numbers—a number endingin 1, 3,5, 7 or 9, can not be divided by 2

Even numbers —a number endingin 2, 4, 6, 8 or 0, can be divided by 2 H : 012 3 4567E8910
decimal points NN
Factors — numbers which divide into another number with no remainder -6+3=-3
-B-T-6-5-4-3-2-101 2
Multiples — answers to multiplications of the number A'ALA
1.234 ~64(-3)=-9 <+-@++B+—++
Prime numbers —a number that has exactly 2 factors: 1 and itself -10-9 -8 -7-6-5-4-3-2-10
Square numbers— multiply by itself, e.g. 2 x 2 = 4 written as 22 + 4- 1 Adding/Subtracting
. . . _ . 5 + -7=5 -7 = =2
Cube numbers — multiply by itself 3 times e.g. 2 x 2 x 2 = 8 written as 23 5_334 c _ g = _13
Multiplication and division 5 - —2=5+2=17
1 2 4 8-8 2 10 13 10 =3 Borrow as usual 2w o= o1
x 2 6 15|43 2-0 314& -6 x -2 = 12
2 4 8 0 3 0 ‘L 3 27 59 Dividing
7 4 4 1 3 2 -30 = 2 = -15
3 81 20 + -2 = -10
3 2 2 4 1 2 0 . -6 +~ -2 = 2
1 1
1 2 0 l
So1.24 x0.26 = 0.3224 1 2 0 Hegarty Maths Skills Links
0 L'ne up the dQClmal pOlntS Addition and Subtraction 9,18, 19, 20, 40, 41, 47

Multiplication and division 6, 10, 11, 21, 22, 23, 48, 49, 50, 144, 145

’ Answer: 28-8 Order of operations 24, 44,120, 150
\’ North East
"\ Leamlng Trust Negative numbers 37,38,39,40,41,42,43,44




Addition and subtraction

1)
2)
3)
4)
5)
6)
7)

8)

3.4+0.57

2.37+64.5

6.4-3.7

2.34-1.48

2.3+5.07

5.91-0.36

2.45+0.46

10-0.0329

Multiplication and division

1)
2)
3)
4)
5)
6)

7)

8)

6.2x7.1
3x1.7
2.34x2.7
0.24 x 3.57
28 +7
5.096 + 14
93.10+15

1.24:0.4

\” North East
"\ Learning Trust

Negative numbers

1) -3x-4
2) -5x4
3) 10x-5
4) -7x-2
5) 4x-6
6) -5x8
7) -2x-5
8) 6x10
9) -10x9
10) 8x-5
11) 18 +-3
12) -20+ 10
13) -24+ -6
14) -6+ -3
15) 6--5
16) -7+ 10
17) 8+-10
18) 12--6
19) -2--5

20) -12--7

1)

2)

Applying knowledge

Mrs Smith buys a pen for everyone in Year 7. There are 125 students
in Year 7. A pack of 6 pens costs £2.40. How much does Mrs Smith
spend for the pens?

Molly gets paid £11.50 for each hour she works from Monday to
Friday.
She gets paid £14.40 for each hour she works on Saturday.

Last week Molly worked 12 hours from Monday to Friday and 4
hours on Saturday.
Show that Molly was paid more than £160 last week.

City Temperature

Cairo 15 =°C

Copenhagen -1 °C

Helsinki =9 °C

Manchester 3oC

Moscow =14 =C

Sydney 20°C

1)
2)

3)

Which city has the lowest temperature?
How much warmer is Sydney than Moscow?
One day in summer, Helsinki’s temperature rises

by 22 degrees Celsius. What is the temperature on
that day?



Key words and definitions
Area — the area of a 2D shapes is the amount of space inside it

Perimeter — the perimeter is the total distance around the outside of a
shape

Circumference — the distance around the outside of a circle
Surface area — sum of the areas of all the faces in a 3D shape

Volume — the amount of 3D space occupied by an object

Area and Circumference

- 2
C=md Amme
=3.142x6 _ % 1
=3.142x 6 cm Area= —nr’ = —nr
=3.142x 36 360 4
—18.85 cm =11311cm2
Compound area
The area of this shape * EQUALS ® the area of these two
N I ‘ I
2cm 2cm
v [ v
6 cm le- 3Cm_, 6 cm *3cm*
‘ v
- acm » «—4cm »

The area of this shape =(6x4)¢(2x3)

=24 +

=30 cm?

\” North East
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Area

Volume of a prism

A = Length x width

SQUARE E’T
I
- I
A =lLength? S gy
RECTANGLE

width
L il

Volume of triangular prism = arca of cross-section x length

= ]—xhxf?x!

TRIANGLE

A = - Base x height*

TRAPEIZUM

A == (a +b) x height*

PARALLELOGRAM

A = Base x height®

Perimeter

10cm

S5cm

Add the sides
10+10+5+5
= 30cm

t < N\

S5mm /
1 P e

The “Total Surface Area” =

(6x5)/2

2x(6x5)/2 :TwoReds
+2x(8x7) : Two Yellows
+1x(8x86) : One Green

= 2x15 + 2x56 + 1x48

(6x5)/2

=190 mm? /
Hegarty Maths Links

Area 553, 554, 555, 556, 557, 558

Perimeter 548, 549, 550, 551, 552

Circles 534, 535, 536, 537, 538, 539,
540,541, 542, 543

Volume 567,568

Surface area 584, 590




Area and perimeter Circles Volume

. Calculate the area and circumference ;
Calculate the area and perimeter ofthe  r 4 - faiowing shapes: Calculate the volume of the following

following shapes: 1)
1} 8 om z 2
& em . I

dmm
Lmm
i 4mm &mm
b)
2)
Jem
S
Bm
Surface Area
1) How many vertices does a cube Problem Solving
hawve? _
Here are a triangle and a rectangle.
Calculate the area of the following 2) Draw the net of a cube
shapes:
& cm
3 width
) 9 cm

3) Calculate the surface area of the

following:
ovna 16 cm

10 em

g cm

\” North East
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The area of the rectangle is & times the area of the triangle.
Work out the width of the rectangle.




Key words and definitions Substitution Factorising

Expression — numbers, symbols and operators grouped together Evaluate 3a - 2b, fora=10and b =4

3a-2b (a=10 b=4) 4x+16

4 is a factor of both 4 and 16.

3(10) — 2(4) 4(X+4)

Term — number or variable or numbers and variables multiplied together

Equation — a mathematical statement that shows two things are equal

Expand — multiply to remove brackets

=30 - 8
Factorise — the reverse of expanding, taking out a common factors
/ Factorising a quadratic
Substitution — putting numbers in place of letters - 22
Simplify — collect like terms Expand a single bracket X2+5x+4
Simplifying expressions . - 1. Find factors of 4 which sum [add) to 5

Expanding single brackets

add powers 2. Theyaredwl=4 and d+1="5
1 1_ 52 3. Result is: [x+ 4)(x+ 1)
t+t+t=3t N 3(x+2)
Jx+6 " .
subtract powers Writing expressions
=13 10+ A3 — A7 5 less than a number k k - 5
txtxt=t s i Expand a double bracket &
I/ ™ —. a number x divided by 11 3
Simplifying /" Expanding doublebrackets ) |
@ : Er' panding double bracke \ 4 times the sum of mand 5 4(n + 5)
/ Ze+llt X+ 3) (x+ Hegarty Maths Links
If there is no sign in front of the term, Simplifying - 156, 157, 158, 159

it is POSITIVE J x?— 12 Substitution - 780, 781, 782, 783, 784, 785
’ Expanding - 160, 161, 162, 163, 164, 165
\’ North East | |

’ ) Learning Trust \ W2t Tx+ 12 / Factorising - 168, 169, 223, 224




Simplifying
a) 3x+by—4dy+ 2x

b) y+y
c)] 3px5q

df pxpxpxp

Substituting

1) Find 3x+5ywhenx=4andy=2

2] Findabcwhena=2 b=3andc=5

3} Find7Vs-2twhens=4andt=-3

4} Find 4{Zn-3)whenn=5

\” North East
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Expanding
1) 3a+4)
2} 5{c+6b)
3y 4x-3y)
4, ala+h)
3)  xldy - )

Expanding and simplifying
4(2x + 3y) + 2(x + 2y)
5(a+3b) +3(a—b)
2(3a—4b) —3(2a+1)
(x+2)(x+3)
(x+5)((x+2)

(x —6)(x —6)
(x+10)(x—4)
(x+3)(x—15)

® N S R N N

Factorising into a single set of bracket

1. 3x+33 5 y3-2y
2 5y+25 6. 4a®+20a
3 4a-—18

4. x*+4x

Factorising into double brackets

N S RN NN

x2+5x+6
x?+8x + 12
x2+13x + 30
x2—7x+12
x2—2x+1
x?2+2x—8
x2+7x — 30

Writing expressions

My age is C, write expressions for the
ages of the members of my family if:

a) My brother is 3 years older
than me

by Wy sister is 2 years
younger than me

¢l Iy mum is double my age

Write an expression for the area ofthe
rectangle.

2w +4

¥+2




Key words and definitions

Fraction — represents part(s) of a whole
Percentage — how many parts per hundred
Equivalent — equal in value

Improper — a fraction where the numerator (top number) is larger than
the denominator (bottom number)

Fraction, decimal and percentage equivalence

Fractions Decimals Percentages

1 0.2 2086

o

E D75 75%

4

1

_ O.125 12 5%

a8

1 0.5 50%

2

Fractions |top +bottom > Decimals

N

Write percentage over
100 then simplify

\” North East
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Percentages

Calculations with fractions

1 1 1x3 1x2
Add Sy = o

3 2 5
=db = =
2 3 2%3 3x2 6 6 6

7 1 Tx3 1x8 21 E _ 13
Subtract - = _ -
g 3 8x3 3x8 24 24 24
Multipl 3 X 1 3
ulti —_X—-—= —=-
Py U 5
Divide 1 1 1 3 3 1
(KFC)

14 2
—  How many "whole” 3'sfit into 147 45

2 37
/- sx7)+2= —
5 5

Finding a fraction of an amount

multiply by the numerator
and

divide by the denominator

For example,
%of 18 litres = 18 litres + 3 x 2
= 6 litres x 2
= 12 litres

Finding a percentages

St of = smownt

Incease bya%

Decresss bya 5%

Standard Form

1) 4733
4,733x 10°

1) 0.00765
7.65x10°

15% of £

10% = 20
5% =10
Answer: £30

Increase £200 by 15%
15% of 200 = 30
Audd it on or use the muhiphen[1.2)
[200 x 1.2)
Answer: £230

Decrease £200 by 15%

15% of 200 = 30
Subtract it or u=e the multiplen)0 ES5)
[200 = D.ES)

Answer: £170

4) 0.00000081
81x107

5) 7277.66
7.27766 x 10°

Hegarty Maths Skills Links

Fraction, decimal, percentages

Equivalent fractions

4 operations with fractions

Fraction of an amount

73,74,75,76

59, 60, 61, 62

65, 66, 67, 68, 69, 70, 71, 72
77,78

Improper fractions/mixed numbers63, 64

Percentage of an amount

84, 85, 86, 87, 88, 89



Slmpllfylng Fractions Equivalent fractions Standard form
1) Slmpllfy 1sm 1) Complete the table below. Write the following numbers in standard form:
12 Fraction Decimal FPercentage 1) 7650000
2) Simplify =
20 14 2) 534 000 000 000
e 16
3) Simphfy ” 0.6 3) 0.00057
4) Write as an improper fraction 2 ::: 13% 4) 0.000807
Y Write the following as ordinary numbers:
1) 8.76 x 10°

5) Write as a mixed number %

2) Would you rather have %4, 70% or 2) 1.106 x 108

Calculating with fractions 0.72 of a pizza? Why?
; - . -5
Give your answers in their simplest 3) 1.6 x10
fDrml' 1 4) 7.31 x 1072
1) 241
2 4
Percentage of an amount
2 2% g
1) Claire improves her further distance for running by 19%. 1) Calculate 40% of 600 ml. 2) Calculate 67% of £120.
3) 16 _ 8 She used to be able to run 4km. How far can she run now?
iE 2) Michael gets 42% better at kick ups. He used to be able to 3) Bobby went to the shop and there was a 20% sale. He was going to buy a top
} 1 3 do 32. How many can he do now? for £24. How much does he save?
4) 2:-12 ' |
3
’ 3) ?gg Iﬁlzf r?]ﬁa?_.ﬁyﬁgﬂhéz w:tﬁaggn;ﬂ'l?nwers. He used to have 4)  Sarah went to the shop and there was a 15% sale. She was going to buy a CD
- : for £8. How much does she save?
\’ North East
’ \ Learning Trust 4) Red bull has 94% more sugar than Coke Life. Coke Life
has 1.2g of sugar. How much does Red Bull have?




Key words and definitions
Probability — the likelihood of an event happening

Mutually exclusive events — events which may not occur at the same
time.

Exhaustive - Events are exhaustive if they include all possible outcomes

Sample space diagram - shows all the possible outcomes. It is used to
find theoretical probability.

Outcome — A possible result of an experiment or trial.

Probability Scale

Impossible  Unlikely B Likely —
| 1 I I
| | | 1 |
0 " . y X
0 25% 50% 75% -
0 0.25 0.5 0.75 1
Proba |]i|it-!|- - number of successful outcomes

total number of possibls outcomes

\” North East
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Probability of an event not happening

P(not A) =1 - P(A)

Ex: The probability of NOT tossing a |g| of a die.

1
P(A)= 5
therefore P(not A) =

(Probability of Event A)
1-P(A) =1

1
D=

Sample space diagrams

Represent the results from adding two 6-sided dice in a
sample space diagram.

6

a) The probahility of getting a total of 77 E

0

b) The probability of getting a total of a 17 E

30

cl  The probahility of getting a total of a3 107 E
First die

1 2 3 4 5 5]
1 z 3 4 5 6 7

2 3 4 5 5] 7 8

Second die
o
wn
L=
-~
o
Lfs]

10

Relative Frequency

number of ‘successful trials

Relative Freguency = :
total number of trials

| tem Frequency Relative
frequency
1 B 4/20 (or 20%)
2 5 5/20 (or 25%)
3 5 |5/20  (or 25%)
R—’l 2 .} g() (or IO%)
5 4 4/20 (or 20%)
Towl] 20|

Experimental Probability

freguency of event

Estimated/Experimental Probability = total fraquancy

Predicted number of outcomes = probability x number of
trials

Hegarty Maths Links

Probability scale - 349

Theoretical probability — 350, 351. 352
Probability of an event not happening - 353
Relative frequency - 357

Experimental probability — 355, 356

Sample space diagrams — 358, 359



Probability Probability scale Listing

1) Irall a-rlurmal: & sided dice. What - i ) i o

is the probability that | get: On the probability scale below, mark 1) Three friends Andrew, Billy and Chris are sitting in the
a) ab? same row at a concert. Show the different seating

b) an even number? (i) with the letter S, the probability that it will snow in London in June,

¢} anumber less than 27 arrange ts that are possible.

(ii) with the letter H, the probability that when a fair coin is thrown once it
comes down heads,

2} The spinner shown in spun. VWhat

is the probability that the spinner lands (iii) with the letter M, the probability that it will rain in Manchester next

on: year.
7 i
i; :i or yellow? | | 2} A restaurant menu allows a choice of one each of
¢) notblue? 0 ! starter, main course and sweet The choices are:
Starter Main Course oweet
Melon Pasta Gateawx
3} | put the lefters from the word Soup Fizh lce-cream
EXERCISE on cards, place them face Chick
down and then mix them up. | pick one : ICKEN
card at random. What is the probability Sample space diagrams
that the card is: ) ) )
a) anX? Two fair dice are thrown together and the scores are added together. Relative Frequency
o) awvowel? 11 Complete the sample space diagram showing all the pessible outcomes . .
c) notanE? p > 3 7 . 5 1) The probability that a biased dice
. will land on a five is 0.3. Megan is
4) The probability that | win a 100m . going fo roll the .d'w 400 times.
race is 3/10. What is the probability Work out an estimate for the
that | don't win the race? 3 number of times the dice will land
4 on a five.
5
a2} The probability that is rains g
tomicrrow is 0.14. What is the
probability that it doesn't rain 2] How many nutt:r:un_les are there altogether?
tomomow? 3) What is the most likely score?
' 4) What are the least likely scores? )
’ 5) What is probability of scoring 10 or more? 2) Jack sows 300 wildflower seeds.
\’ North East ) Wihat s the probabiiy of scoring ess han 57 The probabily of a sed flowering

"\ Learning Trust number of these seeds that will

flower.



Key words and definitions

Equation — a statement linking two expressions as equal
Variable — a symbol that may take any value

Constant — a value that does not change

Coefficient — a constant attached to the front of a variable

Formula — a statemnt, often written as an equation, that shows the exact
relationship beyween different variables e.g. y=mx+c.

Inequalities on number lines

. Closed dot

. Xx=2
Y A G M S
| BN S | I TR |
3 o2 of 0 ¥ 2
opendot O > 1
I [ x>
| | | |
1 2 3 4 § 6
Closed dot -3=x<7 Open dot
® O
AT GO N O O O Y S N O GO
| | | || | v | |
4 3 2 414 0 1 2 83 4 6 6 7 8
3<x<?

This is asking what values would
represent x. They are 3, 4, 5, and
6. This is because < includes the 3
but < does not include the 7

\” North East
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Simple equations

To solve the

y+7=10 2y —3=9 question, we
y = use the inverse

‘ 2y =12 operation to
_107=3 Py Eotihevadahie

(letter) on its own

Equations with brackets

24p +11=18 {Use Distributive Law}
dp+2=18 {Subtract 2 from both sides}
Bp+2-—2=18-2
ap =16 {Diwide both sides by 8}
Bp 16
)
p=2

Rearranging formulae

Rearrange the formula to make o the subject

This means b=5a+21
we want to -21 21
rearrange b-21=5a
the formula 35 25
50 it says
as= -2l=a
5
Our answer should say ...a= b - 21

5

Unknown on both sides

5y—-8=2y+7
3y—8 =7
3k =15
y=25

-

Forming and solving equations

What do the angles ina
triangle add up to?

POR 15 a wrianghe, Form and sobve an
equation to find the value of y.

a 180 |
How can we write an
equation for this?

2y+10+y+y+50=180

Can we collect like
terms?

dy + 60 = 180

dy =120
y =30

Hegarty Maths Links

Inequalities — 265, 266, 267, 268, 269
Solving — 178, 179, 180, 181, 182, 183, 184, 185, 186, 187
Forming and solving — 176, 188

Rearranging formulae- 280, 281, 282, 283, 284, 285



Solving

1)  x+4=11

2) w—6=23

3) 5d=170

4)

RS
I
~

5) 2x+6=12

\” North East
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3)

4)

6(x - 2) =24

5(4y +2) =70

2Xx+4=5x-8

4x—-3=2x+2

3(x+6)=Hx+5)

Inequalities
List the integers which satisfy these

wnequalities and display on a number line

2= x =<7

1 =< x =<3

-1=x =1

27= x=33

55 =x =39

Forming and solving

Lo

>
/2

The sizes of the angles, in degrees, of the triangle are
2x+7

2x

x+18

(a) Use this information to write down an equation in terms of x.

(b) Use yvour answer to part (a) to work out the value of x.




Key words and definitions

Polygon - A polygon is any 2-dimensional shape formed with straight
lines. The name tells you how many sides the shape has. For example, a
triangle has three sides, and a quadrilateral has four sides.

Parallel lines — lines which never meet, they stay the same distance apart
Plan view — looking down on an object from above

Elevation — view from the front or side of an object

Angles in parallel lines

Corresponding Angles Alternate Angles

Alternate angles are equal.

OTESPONCIRG ang'es ar® S9U2%  They can be found in Z shapes.

They can be found in F shapes.
Plans and elevations

Plan

Front

Side

Front Side

\” North East
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Types of special quadrilaterals

Angle facts

Juadrilateral Properties
Y o _ The angles en a straight line
L o

Rectangle 4 right angles and opposite 1 + add up to 180°,

sides equal 04 O a+* b= 180°

T
Square 4 right angles and 4 equal sides il i The angles in a triangle edd
up to 1807,

Parallelogram Two pairs of parallel sides and a+b+c¢ =180°

Rhombuts

Trapeziuin

Kite Two pairs of adjacent sides
of the same length

opposite sides equal

Parallelogram with 4 equal sides

Two sides are parallel

The angles at a point add up
1o 360°,
m+ne+p=360°

The angles in a quadrilateral
up to 3607,
W+ x+yezz 3607

N
<>
[\
Y

Angles in polgons

Angle Sum |
(n-,2) x 180"

number of
triangles

4 x180° = 540" POlygong

interior angle ]
angle sum
number of sides

OR

180° . e:g‘;v'-;or

= =

triangl

5 pentagon

Vertically opposite angles are
equal.
A=B

e 4 quedrilateral b=E

6 hexagon
7 - heptagon 7% Hegarty Maths Links
8 oc?o?ry“

Properties of quadrilaterals and triangles — 823, 824, 825, 826

9 - nonagon
10 - decagon ‘ .
Basic angle facts — 477, 478, 479, 585, 486, 487
| exterior angle - -
360° Angles in parallel lines — 481, 483
number of sides
ot Angles in polygons — 561, 562, 563, 564
. interior Plans and elevations — 837, 838, 839, 840, 841, 842, 843, 844
180" - angle




Angles Plans and elevations Apply your knowledge

Calculate the missing angles in each of these diagrams and give reasons for your  praw the frant, side and plan view. Front 1) A — 8 ABCD s 3 paralielogram
answWers.
1} 2) Angle ADE = 38°
-] & & & angle BEC = 417
35 AHEIE DAB =120°
34° o o o o @
a & & a D ¢ Calculate the size of angle x
a" You must give reasons for your answer.
o o o ) ;
Side
a
105° A b A . Diagrams NOT accurately drawn
a
8 2] ABC and DEFG are parallel.
; AEH and BFH are straight lines.
3} Dlﬂgmm shows a regular pentagon 4) 2 Work out the size of the angle marked x®
e Plan
de 2
-]
e
o o o o @ A regular decagon and & regular pentagon have sides the sames lengih
81 fe Ty are joaned as shiw

A [ "

Prove that ABC is a straight line

\” North East
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Key words and definitions Share in a given ratio Maps and scales
P . ; : . . 6. Each diagram is part of a map. Find the actual distance between the two places for each map.

Ratio — A ratio shows the relative sizes of two or more values. Monty and Mossunus pet ATOTAL  In a school the ratio of boys to girls Give your answers in melres.

) ) - . of £72 pocket money. i=59:4 (a) Scale 1:12 500
Direct proportion — There is a direct proportion between two values B} .

) . They share itinthe IALID 5 - 3 There are 270 boys in the school.
when one is a multiple of the other. H de here i 1cem  :12500cm [
How much do th‘E'f' ezch gE't-'-" Lo marvy HAEHTE -EI;E It 2.6 cm :32500cm
Inverse Proportion — a relation between two quantities such that one Bra=ETE ElEERANET p
increases in proportion as the other decreases. *  Add the ratios: ;2*5=3 ] Divide the total number of boys " s
Simplify — To simplify a ratio means to reduce it to its simplest form. In Each OME portion is worth £9 27029 = 30 32 500cm is 31? = i W 2 \ () o
order to do this you need to find the highest common factor for both o T '
terms in the ratio. Monity has 5 portions This gives the numbar for 1 f ‘ \
5 %9 = £45 {PERAEAT
!—|ighest common factor — the highest number that can be divided exactly Mos=aurus has 3 portions s :;15 120 Inverse proportion
into each of two or more numbers. F3xQ=F37 L= -
"6 is the highest common factor of 12 and 18" Total = 270+ 120 = 350 Best seen with an example .... usually
builders!
Simplify ratio Recipes If it Takes@)uilder‘sdays to dig
- - er ; - . . L a hole, how long will it Take 1 builder?

Ratios can be fully Simplfied just like fractions.  Simplify- 6-12 4 ocipe for 6 people uses 900 of mince. How much mince is needed for 2 ?D phes5

To sirnplify & ratio, divide all of the numbers in 2l a2l i a 12peaple b 3 people ¢ 9 people? 2 10

the ratio by the same number [ highest 1-2 F:M F:M 6 people + 3 peaple = 9 people ) g )7(]_

commeon fackor) until they cannot be divided — 5 500 900 + 450 = 13504 T

any more. %0 : i '\1{_ _El,f : .D_F ;

12. 150051" Ly 4504 Hegarty Maths Links
Simplify ratio - 329

Write in the form 1:n Exchange rates Write in the form 1:n - 331
Whan azked tnjm'ite z rati_l:l intha fﬂrma_t 1:n, Write 7 : 21 in the ratio 1:n The exc havngei rate is: Share in a given ratio — 332, 333, 334
Wun?edtummmsbyﬂnmme 7:21 divide both sides by 7 £1 buys $2.12
thelis Recipies — 739, 740, 741, 742

-5 Find how many dollars ($) can be bought for £1500
Exchange rates — 707, 708

\” North East 6500 ﬂ = $2-]2 lxlgoo S Maps and scales — 864, 865, 866, 867, 868

" Leamlng Trust f T

)

Inverse proportion - 342




Simplify ratio Ratio — sharing Proportion - inverse
1) -Sin‘iplify 16:8 1) Paul is making grey paint. He mixes black and white A farmer has enaugh foad for 2“? chickens
paint in the ratio 1: 3. He makes 35 litres of grey paint. for 20 da“-_ He buys 50 more chickens.
2) Simplify 11 : 22 How much white paint does he use? How long will the food now last?
3) Simplify 24 : 12 2) The ratio of adults to children in the sports clubis 5: 2.
There are 120 adults in the club. How many children are
4) Simplify 50p - £2 50 there? Apply your knowledge
o 3) Tim, Shula and Carol share the running costs of the car 400 g of raspberries and 300 g of strawberries cost a total of £7.46
2) Simplify 4:8:12 inthe ratio 1: 2 : 3. Last year it cost £1860 to runthe 500 g of strawberries cost £4.10
car. How much did Carol pay? Work out the total cost of 200 g of raspberries and 200 g of strawberries.

6) There are 32 pupils in a class. 20
of them are girls. What is the ratio 5 . .
of boys to girls in its simplest form? roportion - recipes

Write in the for 1:n L. . . : ]
Here 1s a list of ingredients for making 10 Flapjacks.

The ratio 20 minutes to 1 hour can be written in the form 1:n.

Find the value of n. Ingredients for 10 Flapjacks Colin, Dave and Emma share some money.
80 s rolled oats Colin gets %0 of the money.
E dD h th t of th in th tin3:2
The scale 1cm represents 25m can be written in the form 1: k. 60 g butter TIME anE Have share e res = monsyin e rate
What is Dave's share of the money?
Find the value of k. 30 m/ golden syrup

36 g light brown sugar

\” North East Work out the amount of each ingredient needed to make 15 Flapjacks.
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Key words and definitions

Basic trigonometry is used to calculate angles and side lengths in
right-angled triangles.

Trigonometry involves three ratios: sine, cosine and tangent which
are abbreviated to: sin, cos and tan.

Hypotenuse- The longest side of a right-angled triangle. It is
opposite the right angle.

Pythagoras — short side

Finding a hypotenuse

X, i

Always begin by
identifying the
hypotenuse. This
is the longest
side, and is always
opposite the right

angle.
b=5 You might also want to
label the other two

a=3

2 2 _ 2 sides witha and b
+ =
- b h (either way round).
3 2+ 5 ¢ = xz Substitute the values
- e then work out the left
+ =
J gi X 2 hand side.
=X
A _ Square root to “undo”
34 = x & the squaring
operation.

\” North East
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Pythagoras — long side

Trigonometry — Finding an angle

TOA

Flnd|nq a ShOl"T S'de Make sure \
you can
7 rearrange SOH
a=Xx h formulae
confidently!
b= 4
Label the sides, write
down the formula and
a¥+p*zh* & substitute as before.
Xz +4% = 72 Subtract 16 so the
2 +16 = 49 lezft hand side reads
2249-16 _
2 - 33€& Square root to “undo”

the squaring operation

x = V33

as before.

: S TanA -
Trigonometry — Finding a side adj
Seps Tan35° » x
. . . 8
1. Label the sides of the triangle (opp, adj, hyp)
8 «Tan35° = x
2. Identify which trig identity? (sin, cos, tan) 56016603 * x

Hegarty Maths Links

SOHCAHTOA

3. Form an expression

1
hyp

3
e

adjacent

opposite

eg. siné-=

4. Solve to find the unknown side

Finding a side

Pythagoras- 497, 498, 499

Trigonometry — 508. 509, 510, 511, 512

Finding an angle

Caover the term you are looking
for.

Example:
Using Cos ratio:

To work owt “A’, cowver A and
my calculation is

Cos 8 x Hypotenuse

Tanx = opp
adj

Tanx =3 =0379
3

x* tan' 0.375
x*= 20556045



Pythagoras

Calculate the missing side

1)

2}

\” North East
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Trigonometry

— ETem ———
36°

A "

ABC is a right-angled triangle.

Angle B =90°.
Angle 4 = 36°.
AB =8.7 cm.

Work out the length of BC.
Give your answer correct to 3 significant figures.

Calculate the value of x. iy
Give your answer correct to 3 significant figures. /

&
Rom 7
x{¢m

I

J/w»\ i

Calculate the value of x.
Give your answer comrect to 1 decunal place.

R
agn
it ]
Scm
1 P
g = F

Apply your knowledge

ABCD 15 a wrapeziumn,

AD= 10 cm

AR =9cm

D= 3 e

Angle ABC = angle BCy=

Calculate the length of AC.
GIve YouUr answer comect 1o 3 sigmificant figures.

oy,

o P

LS ]




Key words and definitions Midpoint Gradient

Coordinate — used to indicate the position of a point Add the two x . Y = MX + C is the equation of a straight-line graph
Gradient — how steep the graph is values and =2 . F {":I' ’ 5] -L

Y-int t- where th h th i . : redient yintercept

-intercept- where the graph crosses the y axis Add the twa y ) :

Midpoint- the middle coordinate of the line segment values and + 2 ’ :

i ) change imy 4
Axis — a fixed reference line for the measurement of coordinates B ?/e al 1 2 & I? i1, Gradient = m = E = 2
=1

Horizontal — parallel to the plane of the horizon at right angles to the {-3+ 4] (-2 +5) T 11T J:I .

vertical. 2 3 E { 3 2}

Parallel- Lines which have the same distance continuously between %

them. = [15 : 1]"’;}
Coordinates

Always write the X 1 Linear graphs

first {across), then N I . _ ; "
¥ (up) - A » A linear equation is an equation

B whose graph is a line.
A [2:5 ' . . .
(2:5) 2 » The points on the line are solutions of
B (-1:4) AEEAELEEEEENF the equation.
;I-.
- Equation is therefore y=2x+ 1
C {(2:-3) C n s D X y x ¥ q ¥
5 1 L {(—1,0) Hegarty Maths Links
D (3;:-4) _ 0 | (0, 1) ~ Coordinates - 199 -
’ 2 3 (2.3) Midpoints - 200
\’ North East

" Learning Trust APp——— Linear graphs = 206. 207, 208, 209




Coordinates and midpoint Linear Graphs Equation of a line
(a) Complete the table of values for y = 2x+ 1 The equation of a straight line 15 v = 3x — 2.
1a) Write down thE_ cuu_rdlnate of H and P X -2 | -l 0 1 2 3 Write down the coordinates of the point where this line
b) Calculate the midpoint of the line segment RP y ) 1 crosses the y-axis.
¥
4
(b) On the grid, draw the graph of y=2x + 1
Fl " Vi
8 8
. 3 ]
=5 =5 ? 6 = ‘
4 o
. : L\
1 1 P
=42 1 o | ; b x 1 \
. . 2 - D 1 2 : P
-1
! _:h
L
\/ ) i
\' North East | | , , )
’\ Learning Trust
‘ ' =t : : Find the equation of line L



Key words and definitions nth term of a linear sequence Sequences from patterns

Sequence — A set of quantities ordered in the same manner as the positive integers.
3 8 18 23

[
Pattern — a set of numbers or objects in which all the members are related with each Uy
other by a specific rule. -I-5 +5

nth term — a formula that enables you to find any number in a sequence of numbers.

Find the difference between each term: Shape number 11213 4 /5!6/718/9/10]5%

Position-to-term — a rule that defines the value of each term in a sequence. 5

Numberofmatchtis | 3 | 5 | 7 | 9 |1 |13 19|1F197][lo!

Term-to-term — is the difference between the numbers in the sequence

2. Always put ‘'n’ nextto it {n = term number)

Linear — A number pattern which increases (or decreases) by the same amount each 5” Function rule Number of matchsticks = Shape number x 2 + I
time - =
Using a term-to-term rule 3. Add orsubtract to get the first term in the
cequence’ Finding missing terms
Fnd Hhe next berm n the Sequenc 2% 57,4, 55,8¢, —. 52=3 | o
R o Find the missing terms and rule for: 48, 70, 92

O O ® © 0 The nt" term is 5n -2
19, 37, e, 55 ”J

1 \A

48 - 70 (2 jumps!) gives us: Add 22 .
' So our rule for one jumpis halfthis » Add 11 (common diff = +11)
Geometric sequence Number after 48 = 48 + 11= 59

R i é—— ARITHMETT
R SEQUENCE A geometric sequence is one where to get from one term to the PiEs e

‘ - ps TIon : Number after 70 = 70 + 11 = 81

Angwe( 13 next you multiply by the same number each time. This number
is called the common ratio, . Hegarty Maths Links
) 2 3 . Linear sequences from pictures- 196
’ Eg 2' 10' 50' 250 o Term to term rule — 197
\’ Nﬂl’th East Y klsj\xsj Nth term - 198

"\ Leammg Trust Geometric Sequences - 264



Sequences Nth term Patterns
13} Find the next three terms and the rule Here are some
) . patterns made up of dots.

of the sequence 6, 10, 14, 18, ... Find the n" term of the following

sequenices . e e . .

1) 308,11, 14,17, .. * * . . * *
2y Find the next three terms and the rule o et : : = = :
Dfﬂlﬂ Eﬂquﬂﬂ.fﬂ j: ]'D: Eﬂv q'{.']:"""' 1} g 14 lg 2.'4- :I!g ----- Pattern mombar 1 Pattern rmmober 2 Pattern mumber 3

(a) In the space below, draw Pattern number 4.

3) Find the first three terms of the 3) 3,915, 21,27

sequence with nth term 3n - 2

4 2.4.6,8 10, .

(b) Complete the table.

4) Find the first three terms of the Pattern 1 213 (4] 5
) number
quence with ath term 2n + 4 Numberof | 10 | 14 | 18
dots

\” North East () How many dots are used in Pattern number 107

"\ Learning Trust



Key words and definitions

Primary data — data collected first hand, in a survey or experiment

Secondary data — data collected by someone else

Averages

Mode

Median

Middle values
i ASAENA AR Apae

N

Tally Charts and bar charts

Complete a tally chart for the mast popular colour of car
Red, blue, red, green, red, purple, red, green, red 10
purple, green, blue, red, green, blue, red, red, red

Favourite Colour of Car

The number of red, blue, green and purple cars
is the frequency (height of the bars).

— _
IMPORTANT
Discrete — can only take certain values, usually something you can count e iy Frequency -
Red Pl g é : The bars are the SAME width
Continuous — data that can be measured, can take any value —
Blue m 3 v 4 The gaps between the bars are the SAME width
(5= 2
Average — a typical value for some data, see mean, mode and median 3 Both axes are labelled
Green I 4 ) .
Distribution — how data is spread out, takes account of average & range Bural : ; " The graph has a title @
urple .
Ried Blue Green Purple
Frequency starts at0
Car Colours
. Scatter graphs
Average Advantages Disadvantages Range grap
L)
Mean Everyvaluemakesa  Affected by extreme Sales % Sales a Sales O
difference values Ha n EE 13 13015 130 .
: 120 120 - o 120 .
i 100 —1 100 e 1 100 3 .
Median Not affected by May not change if Largest value — smallest value . RO *L L
L 4 * -
eitreme valugs data valug chanzss EE ! Letel® ;3 - et g . -
Pie chart pEEEEDE | 2 ' 111 & 1 4
Easy to find. There not be one. 30 . 30 30
- e o -
HDtE"EEtEdh'l' 1 Sum [3¢d up] the frequency Draw an accurate pie chart to show this 16182022 242628303234 16182022 2926283032 34 - 1618202462802 M
. - Ernhf'nghalﬁm'L ot ot e of Temperature (*C) Temperature (°C) Temperature ("C)
= 15 2 Elve | rmation aoou 2N numoer
Mode edremevalues. Can  There may be mare frequency fish in 2 ke, Positive Correlation  Negative Correlation No Correlation
be than one. EfAsIAsE
: Hegarty Maths Skills Links
nm-numenﬂ 3 Multiply =ach category X5 to find sector size g y
Fish s il Averages 404, 405, 406, 407, 408, 409, 410, 413
Perch J 10y x5 =50°
i i
Bream I 23] X5 =115 Tally and bar charts 401, 425
C Y3s' —oEr
North East il b xo=1ss Scatter graphs 453, 454
L . Tr TOTAL 72 3607
earning Trust Fy—— Pie charts 427,428,429

A




Averages

1) Here are fifieen numbers.
1M 12 1315151719 2020 20 21 25
252525

a) Find the mode.

) Find the median.
¢} Work out the range.

2} A rugby team played T games.
Here iz the number of points they
scored in each game.
3589121216

a) Find the median.

The rughy team played another game.
They scored 11 points.

B) Find the median number of
points scored in these & games.

3) The mean of eight numbers is 41
The mean of two of the numbers is 29
Vihat is the mean of the other six
numbers?

\” North East
"\ Learning Trust

Bar Carts

Six students each sat a history test and a geography test.
The marks of five of the students, in each of the tests, were used to draw the bar chart.

Mark

(a)

(b)

(c)

20
18
16
14
12

10

v
(] History

0 Geography

Cathy Dennix Enlka Fahad

How many marks did Ali get in his hastory test?

How many marks did Denmis get in his geography test?

One student got a lower mark in the history test than in the geography test.
Write down the name of this student.

Pie charts

Harry asked each student in his class
how they travelled to schoaol that da;r
He used the resurls to draw this pie
chart.

L

aly (L]

How did most of the sfudents fravel to
school?

Harry asked a total of 24 students.
Work out the number of students who
cycled to school.

Scatter Graphs

The scatter ;-;raph shows some
information about & cars.

Fap 1w Tl

Whiat type of correlation does the
scatter graph show?

A car has an engine size of 2.5 litres.
Estimate the distance travelled on one
litre.



\
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ST e Music 25

instruments. Harps, Tuba, Piccolo, Bass
Clarinet, Cor Anglais and Double
Bassoon added with large range of
percussion . Piano popular — solo piano
pieces

“odd " to start with

+  TEMPO may vary a lot or stay same Rondo-ABACA Tonallty/ Dynamlcs/
«  TIMBRE & SONORITY - huge increase in size :

. Articulation/
and extreme range of orchestral I .
instruments. ' Texture/ Modulation

| Baroque sounds ORNATE, DECORATED ! -
! and EXTRAVAGANT :
1 + ORNAMENTS - decorations added to 1 I rO u I I r r ‘ e Kev Words
: the melodies : =
1 © POLYPHONIC TEXTURE - dense | Melod Timbre/ it
1 overlapping with lots of inferweaving | ﬁv— B'r':ssre Sonory
! melodies IMITATION- copying of the | Conjunct Woodwind
| melody . I Disjunct Strings
! - TERRACED DYNAMICS —either loud or ! : , S o Percussion
£t 1 Classical music sounds BALANCED, ELEGANT, ORDERED and 1 : Orchestra
: SO I | Virtuoso B
| » TIMBRE & SONORITY — mainly strings, 1 SYMMETRICAL | Leitmotif o ord
I simple woodwind (recorders) and | | * BALANCED REGULAR PHRASES (4 and 8 bars) 'l Theme psichor
l , , : I 1« HOMOPHONIC TEXTURE - clear melody with an I Basso continuo
1 trumpets and timpani for dramatic I . / I
: « HARPSICHORD (nﬁnk”nga SOUI’]d) pleS : :  ALBERTI BASS - P?TTern of Root, 5 th, 3rd, 5th as an : D.yn?m.ics m:—irjl(;:
1 the (BASSO) CONTINUO (or ORGAN) v - TEETEREAIMENL o ok ] ] | onesimo Atonal
! with cello/double bass fo provide an 1 1 dolat — cledrkeys, cagences an 1 B ano
accompaniment and support I moaulanons : ) Rhyth
L harm Onﬁ’es PP | |+ VARIETY IN DYNAMICS - wider range and use of || Mezzoforte Long duration
e e e e e e e e — e ————— - 1, CRESCENDO and DIMINUENDO I Fortissimo Short duration
. . 1 = TIMBRE & SONORITY - orchestra enlarged - clarinets added, 1 Diminuendo QLR
The Romantic Period I piano invented (replaced harpsichord) || Crescendo el
('810' 1 910) N Y- Terrace dynamics g/clalr:irgreve
: Romantic music sounds LYRICAL, I
I EMOTIONAL, DRAMATIC and DESCRIPTIVE : ;emlo .
!+ THEMES - much music based on an I Texture i
I emotion, place, dreams, the : ____________________________ Unison Rubato
: supernatural or stories . : 20t Century music has more VARETY and : Monophonic Fast
; * LEMMOTIFS - short melodies linkedtoa 1 UNUSAL COMBINATIONS of moods, styles, I Homophonic Slow
I character or emotions ; ! textures, keys and harmonies. ' Polyphonic Structure
| © EXTRAVAGANT DYNAMICS —extremes | |« MINIMALISM - music which uses a lot of ! Binary
1 Used to portray intense emotion L repetition, a limited range of musical ideas, 1 Ternary
I CHROMATICISM - use of notes outside | : - DYNAMICS- may be extreme or subtle but ! Rondo
: the key to create DISSONANCE RICHER 1 often very detailed. : S :
1 HARMONIES - extended chords and . TEXTURES - various, sometimes simple, 1
: unusual keys fo help show emotion : : sometimes Comp|ex : .......................................................................... MethOds to Create
* NATIONAL INFLUENCES — music Iy MELODY may be clear or may be just C
e : . I P ontrast
I influenced by folk music and national : : fragments. TONALITY may be tonal or : S.tructures
| pride ' R atonal (no key, weird). , Binary- AB Tem po/ Rhyth m/
i * TIMBRE & SONORITY — huge increase in e HARMONY - there may be clashing chords 1
! size and range of orchestral - (dissonance) or notes which sound a bit | Ternary -AB Al MeIOdy/
1
: o :
: 5 -
I I
I I
U



Knowledge Organiser - Athletics

Officials

An athletics competition requires a large number of
volunteers each day. These include:

estarter — this person starts all track events
estarter's marshals — these people line up
competitors in correct order ready for starting
*timekeepers — these volunteers provide official
times for all track competitors

*place judges — these helpers ensure the correct
order of positions are given

field event judges — these judges measure, record
and let athletes know when it is safe to compete
erelay judges — these make sure runners at change-
overs are in the correct lane and within the change-
over box

Scoring

3000 m
steeplechase
start

L
\\l'-., WA

Javelin o
s >

Steeplechase water jump

110 m start
high hurdles

Long jump/
Triple jump

Success in athletics is not judged on points or
goals, but rather on times and distance.

Track events — these races are started with an
electronic pistol which is only sounded again on
a false start. In races that are very close, officials
use a digital line-scan camera across the finish
line to give them a photo finish picture. The
clock stops when an athlete has passed through
the finish line.

Jumping events — these events are measured
from the front edge of the take-off board to the
first mark made in the sand by the athlete. The
distance is always measured to the nearest
centimetre and athletes will always be given a
minimum of three jumps.

Throwing events — these events are measured
from the front edge of the throwing line to the
first mark made in the ground by the
implement. The distance is always measured to
the nearest centimetre and athletes will always
be given a minimum of three attempts.




Knowledge Organiser - Athletics

. /
kA

beginners

@Ith and safety in Athletics:

Throwing events:

*  Keep well away from a person throwing.

*  Stand to the side when a person throwing NOT behind!

*  Wait until everyone has thrown collect your equipment.

* Do not walk past a person who has throwing equipment in their hand.
*  Always hold a Javelin vertically.

Running events:

* Ensure the track is fully clear before running

* Ensure that shoe laces are ALWAYS tied before running

General Safety:

* Ensure that all Jewellery is removed before performing any event.

* Ensure that correct kit is always worn — including the correct footwear.

twinklLcom

/ Rules and Regulations \
Athletics has a set of rules for competition and

a series of official notification periods for
proposed changes to them.

UK Athletics (UKA) is the governing body for
the sport of athletics in the United Kingdom.
Its responsibilities include overseeing the
governance of athletics events in the UK as
well as athletes, their development, and
athletics officials. UK Athletics governs the
rules for competition for the following
disciplines:

*track and field competition

*road running competition

ecross country running

ofell and hill running

*race walking

*trail running

\-Ensure you are always warmed up before participating in any athletics activities.

The UK Athletics Rules for Competition are
published every two years.




A cricket team consists of 11 players per side and
one team bats while the other fields.

Unique to cricket, the captain of the fielding team
has complete control of their team’s fielding
positions.

In all, there are 35 different fielding positions and
the captain can utilise every one to try to stop
the batter from scoring runs or to try to get them
out.

ﬁlavers in Cricket \

Deep biw fine leg _e®
®_ Third man

w
. S o Firstsiip | % Le9 sl

Backward point om e Wicketkeeper

®. Long leg

| Point 88 gy point e e Shortleg |\ &, Square leg
®_ Forward short leg
-
mo ®_ Silly mid-on Deep square leg

Om ®_ Mid-wicket
eep cover T
P Deep mid-wicket ‘e

Wide mid-off

om . D

Bowlers Pitch Map

E

Line N Length———p #——— Good Length

+——— Short Length

Dot Balls

Boundaries

22 YARDS

Runs

Wickets

Scoring in Cricket:

* The aim for the batter in cricket is to try to score as
many runs as possible throughout their innings.

* To score a run requires the batter to strike the ball
and run to the opposite end of the pitch while their
batting partner runs in the other direction.

* To record the scoring run, both batters need to
touch the floor behind the popping crease with
either their bat or body. In situations where the
fielding team has not recovered the ball, the batters
return back to score two or more runs.

* |tis also possible to score runs without running the
length of the pitch, if a batter can hit the ball past
the boundary line (four runs) or over the line
without bouncing (six runs).

$———— Fuller Length




Knowledge Organiser - Cricket

Cricket for beginners

m """"""""""""""" A 5 5
Bowling action

71.cm (28 in)

Middle stump o

A\

-

1. Rum-up

22.86 cm
(9in)

Pitch dimensions
*Popping crease - a bowler must have part of their foot
behind this line when the ball is delivered or the umpire
will call 'no ball'.

*Bowling crease - in all competitive games of cricket the

length of a pitch is 20.12 m (or, in imperial measurements,

1 chain or 22 yards) long and this is measured as the
distance between the two bowling creases. The pitch is
3.05 m (10 ft) wide.

*Wicket - the two wickets are placed on each of the
bowling creases and consist of three wooden stumps and
two wooden bails. The bails are positioned on the stumps
in grooves made along the top of each stump. The bails
must be knocked off the stumps to bowl a batter out.
*Stumps - these each have their own name and when
viewed from the front, the left stump is called the off
stump, middle stump and the right stump is called the leg
stump.

Step-bwy-Step Guide to Fast Bowling

£ 3 S RARAH

2. Drl: Dcl ivery 3. Mid Boun

4. Back Foot 5. Front Foot 6. Ball Release 7. Followr
Contact Contact Through

Diameter between 137 m (450 ft) and 150 m (500 ft) I—>

Q—l Length 20.12 m (22 yd) l—b

E
Ccrease D e .
= t a

Popping crease Width

3.06 m (10 ft)

Return crease | :

‘¢ Batting crease >
17.68 m (58 ft)

Rules and Regulations
*The winning team in cricket is the side that scores
the most runs, although in some situations a draw is
recorded if they both get the same number of runs.
*A cricket team consists of 11 players and they take it
in turns to bat and bowl.
*The bowler must not throw the ball, but bowl the
ball overarm at the stumps, which are at either end of
a 22-yard area called a wicket.
*A batter is declared out if the bowler knocks off the
bails of the stumps with a delivery.
*A batter is declared out if a fielder or wicketkeeper
catches the ball directly off the bat and before it hits
the ground.
*A batter is declared out if the umpire believes that
the bowler's ball would have hit the stumps if the
batter had not obstructed the ball with their pads.
This is known as leg before wicket (or LBW).
*A batter is declared run-out when they are going for
a run but do not make the batting crease before
fielding team knocks off the cricket stumps.
*A batter is declared out if the wicketkeeper stumps
them.
*A batter is declared out if they knock over their
stumps while playing a shot or avoiding a delivery.
*There are other, less common ways of being out in
cricket, but these are quite rare.
*A batter is declared out if the umpire believes the
batter has purposely obstructed a fielder who is
about to take a catch or attempt a run-out.
*The end of an innings is called when 10 of the 11
batting team are given out. At this point, both teams
swap over. In competitive games, teams can have one
or two innings.




Knowledge Organiser - Rounders

Scoring in rounders

* 1 Rounder if ball is hit and 4th post is reached and
touched before next ball is bowled 1 Rounder if ball is hit
and 4th post reached on a no ball (you can’t be caught
out)

* % Rounder if 4th post reached without hitting the ball

* % Rounder if ball is hit and 2nd post reached and touched
before next ball is bowled - but if you continue this run
and are put out before reaching 4th post, the score will be
nullified

* Penalty % Rounder for an obstruction by a fielder

* Penalty % rounder for 2 consecutive no balls to same
batter 1 Rounder for a backward hit if 4th post reached
(you stay at 1st while ball is in the backward area)

The bowler
should aim to
bowl the ball
in between
the head and
knee.

Key Words
A rounder - the ball is hit, even if a no ball was

thrown, and the batter touches the 4th post
before the post is stumped or the ball is back
with the bowler in the bowlers square.

% Rounder - 1/2 rounder can be scored if a
player reaches the 2nd or 3rd post in one hit.
Backwards hit - If the ball is hit backwards the
player must stay at the first post until the ball
is thrown forwards. If the player then makes it
to the 4th post before it is stumped a rounder
is scored.

Obstruction - Penalty 1/2 rounders can be
scored if a fielder obstructs where the batter is
running or if the bowler throws 2 consecutive
no balls to the next player.

No ball — this is called when the bowler does
not bowl the ball between the head and knee
or is too far wide.




Knowledge Organiser - Rounders -

Batting the ball Skill Card

Skills Practice L(

With a rounders tee, practise hitting a static ball using the correct technique.

Try throwing a ball up for yourself and hit them as best as you can. Can
you hit the ball at different heights?

Experiment with your stance and holding position. Which one do you find
the most comfortable? Which one helps you connect with the ball the most?

How do you get out in rounders?

Technique

Hold the bat with either one or two
hands, using the ‘handshake’ grip.

Stand side-on to the bowler, holding
the bat behind you.

Keep your weight over your back leg.

Watch the ball throughout.

As the ball gets closer, begin to swing
your bat forward.

Transfer your weight to your front leg,
leaning into the swing as you make
contact with the ball.

Rounders for

square
*  You overtake

only)

* Afielder catches the ball (Caught)

* Foot over front/back line of batting square
before hitting or missing a good ball

* Runninginside post (unless obstructed)

* The post you are running to is stumped

* You lose contact with post during bowlers
action when he has possession in the

* You obstruct (you have right of way on track

beginners

Rules and Regulations

The batter:

Wait in the backward area well away from 4th
post

If out, wait in the backward area well away
from 1st post

You will have one good ball bowled to you
No ball if: - Not smooth underarm action - Ball
is above head - below knee - Ball bounces on
way to you - Is wide or straight at body - The
bowlers foot is outside the square during the
bowling action - You can take or run on a no
ball, but once you reach 1st post you cannot
re turn. You score in the normal way.

Running around the track:

If you stop at a post you must keep contact
with the post, with hand or bat. If you don’t
the fielding side can stump the following post
to put you out

You can run on to a post even if it has been
previously stumped (you don’t score if the
post immediately ahead has been stumped)
When the bowler has the ball in his square
you cannot move on, but if you are between
posts you can carry on to the next

You cannot have two batters at a post. The
Umpire will ask the first to run on when the
second one makes contact

At a post you do not have to move on for
every ball bowled




Knowledge Organiser -Tennis

Scoring in Tennis

At the beginning of a game both players begin with ‘love’ (zero) points. Unlike other racket
sports, the points do not increase in standard increments, instead they follow the set
system below:

*No points — 'Love'

*First point — '15'

*Second point — '30'

*Third point — '40"

*Fourth point — 'Game'

To win a game, a player must beat their opponent by two clear points. However, it is very
common for both players to reach 40-40 (40-all) - this is called "deuce".

At deuce, a player is still required to win by two more points. Therefore, if the server wins
the next point the score is “advantage server”. If the player with "advantage" wins the
next point they win the game, but if the player without "advantage" wins the next point,
the score reverts to "deuce". There is no limit to the number of times a game can go to
deuce and, as a result, a game can go on for an extended period of time.

aujjaseg

FICTFETER)
pueT] s,uejN oN
aul adIAIaS
HnoY 3danq, 31n09 abejueApy)
unoo unoo
ELITVEL ERITVET
b1y 197

Doubles Sideline
Singles Sideline

N

%
8
%

Right
Service Service

Court Court
(Duce Court)

Service Line
No Man's Land

Singles Sideline

Center Mark Baseline

Doubles Sideline

Court markings:
*A competitive tennis court is

a large rectangle that can be
played on grass, clay and hard
courts, which can be of
concrete or rubber
composition. All courts are
marked out to play both
singles and doubles.
Recreational courts can also
be artificial, carpet-based
surfaces.

*A tennis court is 23.77 m (78
ft) long. For singles matches, it
is 8.23 m (27 ft) wide and for
doubles it is 10.97 m (36 ft)
wide. Additional lines
accommodate both singles
and doubles play.

*The tennis net should stretch
91.4 cm (3 ft) past the doubles
court, stand 1.07 m (3 ft 6 in)
high at the ends and drop to
91 cm (3 ft) in the middle of
the net.




Knowledge Organiser -Tennis

Tennis for
beginners

Rules and Regulations
*A match must start with a coin toss to decide
who serves first and which side they want to
serve from.
*After each point, the server will alternate either
side on the baseline.
*The server must hit their serve from behind
their baseline.
°|f the first serve is called out, then the server
may take advantage of a second serve. If the
second serve fails then a 'double fault' is called
and the point is lost.
*If the serve hits the net but travels over and into
the service area, then a 'let' is called and the
server may take the serve again without penalty.
*To receive a serve, the player is allowed to stand
where they wish but they must allow the ball to
bounce once first.
°|f a player touches the net, distracts their
opponent or impedes them in any way, the
umpire will award the point to the other player.
*Throughout a game, the ball is allowed to hit the
lines to be awarded in. Anything outside of the

1 2 lines and the ball is out.
Key Events Phases °In competitive games, new tennis balls are
2R =t . By introduced after the first seven games and then
ol i ek RRTDEREAE every nine games after that.




1. Key Wordsl!

Incident ray: The incoming ray.

Reflected ray: The outgoing ray.

Normal line: From which angles are measured, at right angles to the surface.
Angle of reflection: Between the normal and reflected ray.

Angle of incidence: Between the normal and incident ray.

Refraction: Change in the direction of light going from one material into another.
Absorption: When energy is transferred from light to a material.

Scattering: When light bounces of f anobject in all directions.

Transparent: A material that allowsall light to pass through it.

Translucent: A material that allows some light to pass through it.

Opagque: A material that allows no light to pass through it.

Retina: Layer at the back of the eye with light detecting cells and where an image is formed.

Light waves change speed when they pass across the boundary between two
substances with a different density, such as air and glass. This causes them fo
change direction, an effect called refraction.

As light enfers a more dense
medium it slows down and bends
TOWARDS the normal. As light
leaves a more dense medium it
speeds up and bends AWAY from
the normal.

white screen

red
LrANge;
vellow
prect
Dlue
indige
vialet

prism

3. Refraction

Spectium

The organ we
use for seeing!

Cormea

We see objects because light reflects from
an object INTO the pupil.

Coloured part = IRIS

PUPIL = black middle bit

LENS focusses light onto the RETINA.
Refina consists of RODS (Shades) and
CONES (Colours)

Conjunctiva -~

Pupil

Cameras are devices that focus light from an object onto
a photo-sensitive material using a lens. In an old-fashioned
camera, the photo-sensitive material was camera film.
When the film absorbed light, a chemical change produced
an image inthe film, called the ‘negative’. This was used to
produce a photograph on photo-sensitive paper.
In a modern camera or the camera in a mobile phone, the |
I photo-sensitive material produces electrical impulses,
| which are used to produce an image file. This can be viewed
on the screen, or its information sent to a printer.

Year 8 - Knowledge Organiser - Light Waves

I Light travels as transverse waves and faster than sound. It can be reflected, l
| refracted and dispersed. Ray diagrams show what happens to light in mirrors and I
I lenses. Eyes and cameras detect light. When drawing ray diagrams, light travels in I

STRAIGHT LINES so should alwaysbe drawn with a SHARP PENCIL and a RULER!!!

s - - - - - - S S S D S D DS DS DS S S D e e e e

The LAW of REFLECTION!

Angle of incidence = Angle of Reflection

Good reflectors are...

Light colours Flap
plane Shiny
A red filter absorbs
all colours... o I S
...apart from red light.

| White light consists of seven colours (ROYGBIV)
I We see colour as 6/7 are absorbed and one is reflected.

| Filters only allow certain wavelength (colours) through. The others are absorbed. i
Two different filters in front of each other = Black as all light absorbed

6. Vision Problems

Times people may suffer from damage to their eyes
and/or sight. Sometimes people are born with these
problems and sometimes these problems can develop.
Some common eye related problems are: blurred vision
(which can be corrected using glasses with lenses,
contact lenses or laser eye surgery), age related sight
loss, cataracts, colour blindness.

Lots of these conditions are treatable, but it is
important to remember to protect your eyes where
possible for example, not looking directly at bright
lights and wear ng sunglasses.

A pinhole camera consists of a box or
tube with a translucent screen at one
end and a tiny hole (the pinhole) made
in the other end. Light enters the box
through the pinhole and is focused by
the pinhole onto the translucent
screen. The image is upside down and
smaller than the object.

https://www.youtube.com/watch?v=Gf33ueRX

Colour Spectrum MzQ
Reflection and https://www.youtube.com/watch?v=BL2MtP7j
Refraction -xk
https://www.youtube.com/watch?v=syaQgmxb
The Eye 5i0


https://www.youtube.com/watch?v=Gf33ueRXMzQ
https://www.youtube.com/watch?v=Gf33ueRXMzQ
https://www.youtube.com/watch?v=BL2MtP7j-xk
https://www.youtube.com/watch?v=BL2MtP7j-xk
https://www.youtube.com/watch?v=syaQgmxb5i0
https://www.youtube.com/watch?v=syaQgmxb5i0

1, Key Words!

Population: Group of organisms of the same kind living in the same place.

Natural selection: Process by which species change over time in response to environmental
changes and competition for resources.

Extinct: When no more individuals of a species remain.

Biodiversity: The variety of living things. It is measured as the differences between
individuals of the same species, or the number of different species in anecosystem.
Competition: When two or more living things struggle against each other fo get the same
resource.

Evolution: Theory that the animal and plant species living foday descended from species that
existed in the past.

Inherited characteristics: Features that are passed from parents to their offspring.

DNA: A molecule found in the nucleus of cells that contains genetic information.
Chromosomes: Thread-like structures containing tightly coiled DNA.

Gene: A section of DNA that determines an inherited characteristi

ETS

Animals compete
compete for

In order to survive, plants
and animals compete for
different things...

Living organisms have special features known as adaptations. These are features
which help them to survive ina particular environment, even when the conditions are
extreme.

Camouflage - helps
- them hide from prey

..........................................

. heat loss

......................................

- Thick fur and layer of
. blubber - provides insulation

____________________________________________________

- Sharp claws- helps grip
onto ice and catch prey

If we know the genotype (the
alleles) that parents have, we
can predict the inheritance
of their offspring using a

| Punnett square.

For each characteristic
you have two genes, one

fr‘om You'" mther‘ Gnd — allele_:f:)r b!_ue eyes - rd t{"r
one fromyour I alele for brown eyes | 3 [
father. Each genehas a - )
different form. The dominant allele for eye Bb bb
These are called alleles. colour is brown. Mother Bb bb
Alleles can be dominant To have brown eyes you need . ‘

or recessive.

The combination of
these alleles determines
your characteristic.

to have at least one dominant I
allele.

To have blue eyes you must
have two recessive alleles

This shows that 50% of the

| offspring would have brown
es and 50% blue.

hey_ —_— — —_— — —_— —

Knowledge Organiser - Year 8 - Genetics and Evolution

Variation is the differences between individuals of the same species, caused by genetic (e.g.
eye colour) and environmental factors (e.g. scars) or both (e.g. height)

Surveys into variation give data that are continuous, which means to come in a range, or
discontinuous, which means to come in groups

Continuous variation Discontinuous variation

Number of people in category

ZxERERARE

Height Blood group g
Weight Hand used to write with g
Arm span Eye colour Tieiiiiiice B

g H Blood group

Head circumference at birth Helght catsgory (cm)

Ability to roll tongue

DNA: A molecule found in the nucleus of cells that contains genetic information.

It stands for deoxyribonucleic acid.

Itis a chemical made up of twostrands. The strands are twisted into a spiral shape called a
double helix.

The structure of DNA was discovered using the work of several scientists. m
Rosalind Franklinused x-rays to make images of DNA.

Watson and Crick used information from one of these images to describe the structure of DNA.
Wilkins supported their model.

I Chromosomes are long strands of coiled DNA. They
| are found in the nucleus of cells. A section of a

chromosomes that codes for a characteristics such
I as eye colour is called a gene. One copy of each of
I your genes is called your genome.

|
I 3. Inheritance
|

— e mm mm mm mm e Em mm m mm mm owm my
| During sexual reproduction gametes fuse.

In human sperm and egg cells each carry 23 I
I chromosomes. When they fuse a fertilised egg |
| cell is created with 23 pairs of chromosomes. i

. Q
NI -
o £

I Each pair contains a chromosome from each |
| parent which is why offspring may look similar i
l_buT never identical to their parents.

_—_—_—_—_—__J

Y

ittps://www.youtube.com/watch?v=vnktXHBvVES8s
Htps://www.youtube.com/watch?v=sjeSEngKéGrg
ttps://www.youtube.com/watch?v=GK vRtHJZu
https://www.youtube.com/watch?v= jphrpR9ffKA
https://www.youtube.com/watch?v=zwibgNGe4ay

4



https://www.youtube.com/watch?v=vnktXHBvE8s
https://www.youtube.com/watch?v=sjeSEngKGrg
https://www.youtube.com/watch?v=GK_vRtHJZu4
https://www.youtube.com/watch?v=jphrpR9ffKA
https://www.youtube.com/watch?v=zwibgNGe4aY

Knowledge Organiser - Year 8 - Genetics and Evolution

8. Charles Darwin

Darwin went on an expedition around the Galapagos islands. Darwin noticed that on i "‘{hic"" a species changes s . : on
| different islands the birds had different shaped beaks. He suggested this was time in response to changes in The members of the species with the most
because of the food they had available on each island was different and so the | | the environment, desirable characteristics are able to survive and
finches had adapted to their surroundings. 1| competition between reproduce to produce the best-
’ I Darwin deelaaed i ey oF Nl Sdlestien oz species to survive. adapt then it is at risk of becoming extinct.
Giraffes and Natural Selection Overproduction of Offspring Variation of the Population

4{ ; | Alfred Wallace was developing his theory of evolution at
@ >N the same time. They read each others work. Checking
| another scientist's work like this is called peer review.

1
| upon his findings. At the same time a scientist called I
I
l

| Darwin's theory went against the idea that God created all organisms and was very
i controversial. His theory is now accepted by most due fo evidence inthe formof |
fossils, extinction of animals and antibiotic resistant bacteria.

BiOdiverSi'ry meanS hC(VIng GS W'de a r‘ange Of dlffer‘en'l' Sp€CIeS 'n an €CO$y STem Intheﬁafari ot_Mricathgre;;‘asan perfeﬁt,or;en_ e irdfien prodiced o F hinptii it Sifspoiog e Then_ewf;f)opula‘}i?nofgir:ﬂesvarieci insize.sl:)mekof
as possible. It is important to conserve the variety of living organisms on Earth. Not Pam he story the girafes are going t change | | "4e oreoisringan o on. T opes that mostof e | g ¥ i sort nocks, Both variations af the

and adapted and only some will survive. giraffe lived together for a little bit.

only do we have moral and cultural reasons for conserving endangered species,

but conservation:

* maintains the future possibility that plant species might be identified for medicines
*  keeps damage to food chains and food webs to a minimum

« protects our future food supply

Adaptions Inherited Characteristics The Constantly Changing Safari

Conservation measures "? 3 d 2

Some species in Britain are endangered, including the skylark, red squirrel and grass
snake. They could be helped by conservation measures such as:

*  education programmes

+ captive breeding programmes

* legal protection and protection of their habitats
« making artificial ecosystems for them to live in

T:l’g s;:a'ri waas s'till f:ued giraffes, b;n't theAs:"ari Innk;n :ﬁmnt th':n it The safari became full of long necked giraffes eating all the

¢ . id before. Before there were giraffes with long and short necks, but trees they could. The safari went from giraffes of all sizes to tall

enough plants on the ground to sustain them with there short | | yow there i only giraffes who have long necks. The irattes being born | | girattes only. The tall giraffes survive, but they are now faced

necks and they were unable to adapt. The giraffes with the long today have long neck; long necks is now an inherited characteristic and with a new problem of changing weather. Since the Earth is
necks survived because they could easily reach the top of the now apart of the gene pool. The long neck giraffes will live a good life constantly changing they will have to adapt and change there
trees. The long neck giraffes went from tree to tree eating. for a couple million of years. y g;lis o tyhey will not survil:l o 8

Sadly the giraffes with the small necks died out. There was not

Create your own at Storyboard That

_—_—_—_—_—_—_—_—_—_—_1

If a species is unable to adapt quickly enough to its environment, then it is at risk of These are the key points of evolution by natural selection:

becoming extinct.
This can happen for many reasons:

* Individuals in a species show a wide range of variation.
* Inherited variationis due to differences in their genes.
« Individuals with the features that are best suited to the environment are

r
Extinct Animals :
l
] more likely to survive and reproduce.
l
I
l
I

New Predators _NeW
Diseases

Saber-Toothed
Cat

« The genes that allow these individuals o be successful are passed to their
offspring.

* Individuals that are poorly adapted fo their environment are less likely to
survive and reproduce. This means that their genes are less likely to be
passed to the next generation.

« Over many generations these small differences add up to the new evolution

Ground smhnﬁiﬁn‘m Of SpCCieS.

Dinosaur

Destruction
of habitats

Changes to
the
environment

Golden Toad

Tasmanian tiger

Passgﬁer Pigeon




CUSt e The Earth is made of 3
Rock cycle: Sequence of processes where rocks change from one type to another. B coce (outer) layers:
Weathering: The wearing down of rock by physical, chemical or biological processes. :
Erosion: Movement of rock by water, ice or wind (fransportation).

Minerals: Chemicals that rocks are made from.

Sedimentary rocks: Formed from layers of sediment, and which can contain fossils.
Examples are limestone, chalk and sandstone.

Igneous rocks: Formed from cooled magma, with minerals arranged in crystals.
Examples are granite, basalt and obsidian.

Metamorphic rocks: Formed from existing rocks exposed to heat and pressure over a
long time. Examples are marble, slate and schist.
Strata: Layers of sedimentary rock.

Porous: Something that allows water to pass through it.

Crust Relatively thin outer layer made of solid
rock.

core (inner)

Mantel | Mostly solid but deep down it can flow very
slowly (like a liquid).

Core Made from iron and nickel. The outer core
in liquid and the outer core is solid

The Earth's crust, its atmosphere and oceans are the
only sources of the resources that humans need.

4. Tgneous Rocks

F _— — _— — _— — _— — _— — _— — _— — _—
Properties: interlocking crystals in a disorderly arrangement, do I

Properties: small round grains in layers, porous, soft, scratch easily and may contain fossils. not contain any fossils (fossils in the original rock will have melted i
L when the rock melted fo form magma), hard and strong/durable.

Extrugive igneous rocks

. ; . ; 3. Deposition: Sediments sto
t“{f“ger'"g_‘ f“ksl?'”e 2 dE:v:SI:fn SZZ?&:??E:?&X;::;Q movi n;:md settlein one p,acﬁ Formed when molten (liquid) rock called magma cools and solidifies — ool guiokly above ground.
T oollod s e away from the original rock Sediments build up and form layers The size of the crystals depends on how quickly the molten magma
P ’ (strata). Fossils can form here. solidifies:.

_—— _— _—— [ | _—— _— _—— —-— _— —_— _—— —_— _—— —_— _—— —_—
4. Compaction: The weight of Lava that cools qui.ckly above || Magma that cools slov«_:ly below | I gnoous oo
sediments above squashes together ground will form an igneous rock ground will form an igneous i 4 el
the sediments below and water is with small crystals. These are ] rock with large crystals. These [ —d°° s{ dl““:f’ grou:
squeezed out. |  knownas extrusive igneous are known as intrusive igneous _| BRI E9 080
rocks e.g. obsidian and basalt. | | rocks eg. granite and gabbro. l | when ocks above them
5. Cementation: Minerals crystalise = mm mm mm o mm omm R R oemoEm oem e e e P W oy,

gluing grains together.

her minerals
Properties: tiny interlocking grains arranged in layers, |
rarely contain any fossils, (would not normally survive I
L the heat and pressure), not porous, dense and hard.

Formed from other rocks that are changed because of
heat or pressure. They are not made from molten rock.

Metamorphic
Rock

I Earth movements can cause rocks to be deeply buried
or squeezed. As a result, the rocks are heated and put
| under great pressure. They do not melt, but the
minerals they contain are changed chemically (their I
l particles rearrange).

Igneous
Rock

mountain

volcano

e
. do not stay the sam
The Earth's rocks : :n’rin ually changing

ey are
forever. They esses such as

because 9f P nand large earth

eroslo
\\’rvni?/g\:;\:g, he rocksare 9'“:5 \{\E\:\Z is deposn
recycled over Lnilho:\: of years. R General https://www.bbc.com/bitesize/topics/z3fv4wx
CE e :
called the ro . mogra The Earth | https://www.youtube.com/watch?v=Cn8Rdujngws
. ) : -
Uplift happens when huge forces inside the Earth pushes rock upwards Hed hitpsi//aww youtube com/watch?v=CelYx-AbZ do



https://www.bbc.com/bitesize/topics/z3fv4wx
https://www.youtube.com/watch?v=Cn8Rdujngws
https://www.youtube.com/watch?v=CeuYx-AbZdo

Global warming: The gradual increase in surface temperature of the

Earth.

Fossil fuels: Remains of dead organisms that are burned as fuels,

releasing carbon dioxide.

Carbon sink: Areas of vegetation, the ocean or the soil, which absorb and

store carbon.

Greenhouse effect: When energy from the sun is transferred to the

thermal energy store of gases in

Natural resources: Materials from the Earth which act as raw materials
for making a variety of products.

Earth's atmosphere.

10. Greenhouse Effect 1

The Earth is warmed by light from the
Sun.

The Earth produces infrared radiation.

Some of this
heat is absorbed
by greenhouse

Some infrared radiation escapes into
outer space. Some is frapped/absorbed
by greenhouse gases.

= gases. These
gases then radiate 4
the heat back
towards Earth

Heat from the Sun
enters the Earth's
atmosphere and
warms the Earth's
aaaaaa

The Earth

The Earth maintains a temperature
suited to life

becomes
warmer as

a result 5

The Earth's surface
becomes hotter and
radiates heat back out

Greenhouse gases in the atmosphere
increase.

-——

More infrared radiation is trapped and
the Earth's temperature increases.

Disruption
to food
chains

We can reduce these effects
by burning fewer fossil fuels
and using more renewable
energy sources, plant more
trees and eating less meat.

[ Extra greenhouse

gases in the I

atmosphere causes

global warming. Global [

| warming can cause:
* Changes changes to

| local weather
patterns

| - Increased rainfall
and floods

l. Droughts and

I

heatwaves leading to [

crop failure

Recycling reduces the neead

[ I * Farming animals

Oxygen

The Earth's atmosphere is
the relatively thin layer
of gases that surround
the planet. It provides us
with the oxygen we need
to stay alive.

Other including:

Humans are
contributing to
global warming by:

* Burning fossil
fuels fo generate
electricity [

« Deforestation to
make space for I
crops and cattle I

for products I
L such as meat.

Advantages
Limits the consumption

of the Earth's natural
resources and uses less
energy than obtaining
materials from scratch.

Materials are collected Ttems are washed, and
and ’quen toa labels are removed
recycling plant

to extract resources. -

. Ttems are compressed
Disadvantages nd shredded
Lorries collecting e
rubbish burn fossil -
fuels contributing to . _
global warming and the Melting, cooling and
process is expensive, remoulding.

General

https://www.bbc.com/bitesize/topics/z3fv4w x

Carbon Cycle

https://www.youtube.com/watch? v=r75NL3gN5yU

Global Warming

https://www.youtube.com/watch?v=0J Ab ATJI Cugs

Recycling

https://www.youtube.com/watch? v=b76Mp jx2 DQ

Extracting Metals

https://www.youtube.com/watch? v=f xBIgbRT8fw



https://www.bbc.com/bitesize/topics/z3fv4wx
https://www.youtube.com/watch?v=r75NL3gN5yU
https://www.youtube.com/watch?v=oJAbATJCugs
https://www.youtube.com/watch?v=b7GMpjx2jDQ
https://www.youtube.com/watch?v=fxBIgbRT8fw

Y8 HTS = Medios y la techologfa

sacar fotos

hablar por Skype
mandar SMS

jugar

leer mis SMS
descargar melodias y
aplicaciones

chatear con mis amigos
compartir mis videos
favoritos

ver videos o peliculas
leer libros digitales

to take photos

to talk by Skype

to send SMS

to play

to read my SMS

to download ringtones and
apps

to chat with my friends
to share my favourite
videos

to watch videos or films
to read e-books

(casi) todos los dias
dos o tres veces a la
semana

a veces

de vez en cuando
nunca

normalmente
el fin de semana pasada
este fin de semana

(almost) everyday
two or three times a week

sometimes
from time to time
never

normally
at the weekend
this weekend

Mi cantante/grupo
favorit@ es ...
porque / dado que
es/son ...

relajante(s)
pegadiz@(s
interesante(s)
animad@(s)
original(es)
creativ@(s)
divertid@(s)

la letra
la melodia
el ritmo
la cancién

Lo / La encuentro ...

My favourite singer /
group is ...

because / given that
(he/she) is / they are ...

relaxing

catchy
interesting
animated / lively
original

creative

fun

the lyrics

the melody / tune
the rythm

the song

[find it ...

Me chifla

Me flipa | really like
Me mola

el rap Rap

el RnB RnB

el rock Rock

la musica clasica
la musica electronica
la musica pop

Classical music
Electronic music
Pop music

Preterite (1st person)

-AR verbs = remove -AR and add é

(bailar -> bailé)

-ER / -IR verbs = remove -ER / -IR and add i

(comer -> comi)
(vivir -> vivi)

"Pienso que mi movil es muy
practico para leer libros digitales
pero por otro lado, es malo dado
que se debe cargar la bateria todo

el tiempo”.

un programa de
deportes

un concurso

un documental

un reality

una serie policiaca
el telediario

las noticias

una telenovela

A sports programme

a game show

a documentary

a reality TV show
a police drama
the news

the news

a soap opera

mas / meno ... que
tan ... como
informativ@(s)
interesante(s)
emocionante(s)

More / less ... than
as ... as
informative
interesting
exciting

una pelicula de... An ... film
accion action
animacion animated
aventuras adventure
ciencia ficcion science-fiction
fantasia fantasy
superhéroes superhero
terror horror

me hace ... it makes me ...
reir laugh

llorar cry

feliz happy

triste sad

me fascina it fascinates me
me estresa it stresses me out
me interesa it interests me
me releja it relaxes me
buen@ good

mal@ bad

util useful
practic@ practical
gratis free
necesari@ necessary
peligros@ dangerous
adictiv@, addictive

facil de usar easy to use

dificil de usar

Se debe
Hay que

Pagar

ver anuncios

cargar la bateria,
guardar tus datos
personales

utilizar una contrasena
segura

Te engancha
una pérdida de tiempo
no puedo estar sin

difficult to use

You must
It's necessary to

pay

watch adverts
charge the battery
guard your
personal data

use a secure
password

It hooks you
A waste of time
| can't be without
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